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MODEL SET-1
Group-A History (gfasr) 3% (Marks): 20
f=ifed sgfamadia gedl § 9 w8 fdded I —

Choose the most appropriate options in the following multiple choice questions .

1. fage=™ ®e s gar ? 1
(i) 1887 (i) 1945
(iii)) 1873 (iv) 1950
When did Vietnam get independence ?
(i) 1887 (i1) 1945
(iii) 1873 (iv) 1950
2. WEICAT Tl Sf&T0T STih] | YIRd 6He d194 37y ? 1
(i) 1913 (i) 1919
(i) 1915 (iv) 1921
When did Hahatma Gandhi Return to India from South Africa ?
(i) 1913 (ii) 1919
(i) 1915 (iv) 1921
3. I gl B RATIAT o ROl 1
The Young Italy Was formed by ---------------—--—-
4. TN DUCHA BT AGD o oy | 1

The Writer of Das Capital Was -------------=----
=T Ul PT SN 60 Weal H T |

Answer the following questions in 60 words .

5. Isgarg 1§ 2 3

What is nationalism ?

6. 3dCER Hifd TR Y Wiera Are ford | 3
Write a brief note on October revolution.

7. Jolc Yae & IR H AT T S 8 ? qUi o | 3

What do you mean by Rowlatt Act ? Describe.
=T Tl &1 IR 120 g H T
Answer the following questions in 120 words.

8. 1929 30 @ 3P Hhe & BNV &I IARAT BN | 7

Explain the Causes of economic cricis of 1929.
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a v =

S<IRHTCl fd8™ (HISTORY)

(@) 1945
(M) 1915
AR
HTel AT
rgare fedl faRiy Wimfere, digfae a1 arfsre aRkaer § Yg=drel
@ 41 GI< Yeb WG+ B Sl UREOR UH, WISART 3R Tebdll Dl 1O el
g1 1789 30 B BRI Hifd I Igae I g IR FUfIT B
JMBHAT F STl AR SHAT H ISEaATE Bl ATIAT Bl TR fhar |
FRfAPT 7 7 FT=R, 1979 30 DI USRS B oId WCIM, STHER, TAIBMH
@, 9, HIE Td YD 9a] W AABR B o | of i & g
H qIRIfdd! B WRHR ©F § WIUd g5 | YR Heltex & JTIR Ig Tl
25 IdFCER, 1917 30 B g3 o | SAMTU $HPT 3feay Hifd & A9 & Sff
ST ST 2 |
IRA ¥ PSR ARG R G o & oy =mer e Ade ol
Jegerdl | U B BI e fbar war | AT 7 e fa9y <grirerd 1fed
FRA BT GAE A1 | 39 Siqiid fedl N @ @ I Ay & ARwaR
far S Fdar g &R Sf¥a W far S ddar 21 W geedl & Aol @
o 3rdTer T &7 fbar i wepar o |
1929 S0 1 3fdh HEHA! I FAQI HRUT Bl Td a&gall o1 3ffd
Jcured ol | YoH fdvagg & 98 @Rl & qod H R HH IS | AT
MMl § US—TS T 8 o |

g fdvagg & aRM e IRl § 9fE g3 | NG SRIOHRI
TEl W& | J§ D GEI T QY IO IMILIHAT DI aRY @I g9 o |
Y favg 9roTR menRa Uofl eraver s &1 T8 |

3R fded Hoiarar <o &9 T3 oA | 1927 30 & dI& IHNHI
iR Hae § o S | Wold: SMRGT 7 T A1 §8 P} &A1 | 39y
WY B Refe fars 78 | 39 IR e Hal &I FHAd g3 |
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Group-B Geography (*iTie) 3% (Marks): 20

fifehd agfaebedia ueal § & |l fdbed g —

Choose the most appropriate options in the following multiple choice questions .

9. UH Godl AT Bhd afl o7 ? 1
(1) 1987 (i1) 1992
(i) 2002 (iv) 2001
When was the first Earth Summit held ?
(i) 1987 (i) 1992
(i) 2002 (iv) 2001
10.f98R # a1e] A STefie 2T &1 &1 F8d € °? 1
(i)  drelr f@g (i) feaRT @ A8
Giy @R (iv) oiexTse fAgT
What is the name given to sand mixed alluvial soil fourd in Bihar ?
(1) Sandy soil (i1) Diara soil
(111)  Bangar (iv) Laterite soil

11, 981 oreg | Red w1 o7 gfcd o

Fill in the blanks with appropriate words :

(i) TTIT AR DT oo, 1S9 H IART B | 1
Nepal is situated in the --------------—-—- direction of India.

(i) BTl ST BT TERT A o © 1
Black soil is also called ---------------- .

12. 991 U9 &l IR 60 &l H G : 3

Answer the following questions in 60 words .
fER Td BN uu= I5g 8 Far ?
Bihar is an agriculturally properous state. Why ?
13. 1991 U9 &1 IR 60 Tl H § ¢ 3
Answer the following questions in 60 words .
HHred Y@ w1 g ?
What are wntour lines ?
14.f79 99 &1 IR 60 TRl H © 3
Answer the following questions in 60 words .
WEHART & sl A9 TN 6T Ioord o |
Give three advantages of roadways .
15. F1%1 U39 &I I 120 TGl H § - 7
Answer the following questions in 120 words .

YRT ¥ BTl B IaR0T BT qoiT BV |

Describe the distuibution of coal in India.
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10.
11.

12.

13.

34T
N % TR 9RA T T AT A4 991y a2 F=faiRed & sraifad a
M sifda Iy |

Drow the outline map of India on full page and mark the following by shading :

(@) STelre ST &1 &=

(@) BICHNTYR TSR
(1) T T4
(8&) A IR MPER gode
(3) ORI 99 &A
(a) Area of alluvium soil
(b) Chhotanagpur plateau
(¢) Narmada river
(d) Andman and Nicobar islands
(e) Area of mangrove forest
AT
Bad AFsM BET & U ¢
Only for blind candidates :
ARA H HUN & IR IR TS Slef |

Describe cotton cultivation in India.

g s

SANHI AT (Answer)

(b) 1992
(b) fearT &1 AT
(1)Wwﬁ@%wﬁmﬁ%%"l

IR e BN wem g 8 wifd gqal dH—drs g ot &3 & siada
It 21 By & forg wEf &1 AeM 9ew ffd Suygad © | SueTs: g,
R Soarg a1 RHarE B AR gAd © | T8l kgl b AR Bl
9 3R Bl Ol €1 §9 YR T8l IR TRE Bl Bl 913 Sl g—9as,
318N, &1 3R TRAT |

T8 B Fdg & FAMIAR FHM Sasdiel WA B Al Y@ \Ared
N1 BEeTdl € | A= Sergal @ forg fafd=T e Y@ @i ol € S
U TR B B4l 21 dedl | Tdd FHled Y@ W a1y & e sifhd fby
SIT % |
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14, FSHAN & O o1 fFrfalad § —

() & &% TR & S b YK 2 |

(i) 32 UBTS! STal, o+ iR Foverdl @ &9 o W fdrel ST Adhar 2 |

(i) FSB & M@ H URTET & AT G, AN, argAN R TR |4
JER B I SV |

15.1Rd # SRl & T &3 frefalad § —

(i) sREe— IR, GrRI, FIRSE, HUYRT 3R IFATS | T8l I & Bl DI
HeR &1 27 vfrera gRIEM g |

(i) BUNTe— RRARI, IR, fSrafiell, e, /e H Als anfe | I8 <9
P DRI & I H YIH ©IF W 2| J&I < BT 21 Ued e Ui
BT 2 |

(iii) 3NFETT— dTeToR Y@ IcUTeH & 2|

(iv) TERTSE— Tef, HIUST 3R dax |

(v) FegYee— RITRIEH, |AIBRTYR, S9RAT 3R Sifged |

(vi) Tfeam TMa— q&F & IENS & | §A%T &3 QIifeldT ¢ |
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Group-C Political Science (RTSTiIfcr fa=sim)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

16. b <91 H HUTHS ITA—TGRLAT F8] © 7 1
(®) ¥RT (@) 2T dPT
@ ameeferar (%) HYT I JFHRBT
In which country Federal system does not exist ?
(a) India (b) Sri Lanka
(c) Ausralia (d) U.S.A.
17. T TS0 AR & fhae Wk © ? 1

(P) 2 (® 3 M 4 (= 5
How many levels are Panchayti Raj Institutions ?
(@ 2 (b)y 3 () 4 d 5
18. AfZell AAMITHIU R T ofg fewofl forgd | 2

Mention a brief note on Woman empowerment.

T gef &7 SR 60 Ieal H © ¢
Answer the following questions in 60 words .

19. XTSI a1 dlbad H I IeIH & ° 3
Why do we need political parties in democracy ?
20. TR dldbaa ol faeryarail &1 qui o | 3

Describe the characteristics of Indian democracy.
T U%T &l IR 120 &l H § -
Answer the following questions in 120 words .

21.9Rd § g dUT T B HeY Heell TR YD1 ST | 7

Explain the relationship between centre and state in India.

SANHI AT (Answer)

16. (&) =1 il

17.(b) 3

18. AfET FIfFAHROT & 31ef & Siiad & fafa= TR oI— IIoHIfad, AmTTe,
anfelep ud utiRarRes Amal # Afgerail &1 Aera wrfar) gRfEd &R |

19. AHIfA® & diddd H 4 TBR ¥ MaTH & —
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(i) = H IOTIId® Gl b UHE AXAT & ®Y H B B © | 39 (o]
TRHR BT A0 Hefy Fva 8 2 |

(ii) Spaa § OIS Sl SIAG AT § Hgdr e €

(ii)fUel g1 & T H WHR BN ATAHT TR G o F |

20. MR dldhas Ngrd Ud @8R gl 8l WX O o= dl & Ui Saxar 2|
Ig fdeg & H9 §9T dldhdd | RAY WU a1 Bl Alfeld e R
UG &Rl & | F21 @ Ratas gomel) fAvgaig g | 98l draddi, Afdeneii vd
SoqdiEd WE & fedl @ j&m & fau §aq we fdy o @ €
gJrruiferdT | T @ favar s 2 |

21, YR AidaE § Aoy el & d8d dws $l Joidgd Rfd H 3@ 131 2 |
gl AT B Ul AR ARHR Bl A0 @ BT YA fHAT TAT T |
Afqa™ # B, I TG \HeRN Al B A JMUBRI BT WL IR W
fToT fosar Tam ® d1fh <dwia ¥ 997 O 9@ | 9Rd H Uh ofd T9HT a6
Bvg U4 ISl B A T B IRBR BRI BRI Yol | TH9 AdY THERT 9411
RET| 1990 0 & I Voi-ifad URGeT H Il URadd 3MAT| HIUH &
T HH G| Py oAl H AT Tl BT IqWd BT | TTSEE IF WIRA
RISTHIT &7 ARy & 7 &9 a7 2 |

Group-D Economics (312f2¥)
Ah (Marks): 17

ifd agfadmedra el § | ¥el [dded g |

Choose the most appropriate options in the following multiple choice questions .

22, RT BT AAFH FaelT & - 1
(@)  GHSIAIGT (@) Yofrardl
an  fafa (&) $7H A BIg e |
The Indian economy system is
(a) Socialistic (b) Capitalistic
() Mixed (d) None of these
23. Roid d& i AT &1 WIUAT o9 gs ? 1

(b) 1932 (W) 1934 (1) 1936 (d) 1938
When did Reserve Bank of India establish ?

(a) 1932 (b) 1934 (c¢) 1936 (d) 1938
= Ue9 &1 SR 20 @ H T

Answer the following questions in 20 words .

24, RA § AYLH LRI AT BT TUET e AR fFId g1 & 78 o ? 2

First of all when & by whom the national income was calculated in Indea ?
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=T U9 &7 IR 60 Il H < |
Answer the following questions in 60 words .

25. FEAIT ASTAT BT IR BN | 3
Define microfinance system.
26. ASHIR UG HAT' Uh TR D RP & | DA 2 3

Employment and Services are complementary. How ?
T U T IR 120 Vel H |
Answer the following questions in 120 words .

27. 31 A &) 919 fd JeR P oIl & ? 7

How is done the measurement of ecomonic development ?

31y
g faferaq gomefl &1 HfSAEAT BT i BN |

Describe the difficulties of Barter system.

STANHI AT (Answer)

22. () fafa

23. (1) 1934

24 Rd H FAYIH SIS HI 0T 1868 0 W QIaT HIs ARMel o fdbar
T | I7_IH 3UI IXdd “Poverty and Vn-British Rule in India” § 9 fdd arfi®
3T 20 HYAT FATAT T |

25. GeATdT AT & §RT 1A, BT AR [Fer 7 TR STwxads arll & @l
WEIAl G & AH ¥ R ST BT Sl & | $99 Bic AN 0= &4
TST TR ARG J1TaT F0T bl GIAem Ua gl 2 |

26. 519 fdd 310+ gRs™ Td Rl & MR R Siaddied @ foly a9 Taha
FHAT § 3R Id 39 99 BT Yol & ©U H FdeR (a1 orar g 1Afq Scre
& &7 H 9w fHar Sar € a1 9ar, ISR BT R SaA1 81 9. | 3T
RISHTR 3R Hal U G & R ¢ |

27.3ff& fApra aavgd w9 | gRadd &1 ufthar g1 sHS HRUT SEhTA H
ST o Ud gfa @fad amg # gfg B 2 |

i e @ 719 99 T 9aR 9 B Il 8 o~

(i) IS 3 (National Income)— XTI I I 3MMfYd fdbT BT Th UqE
AP AT ST €| fhdl <9 § U ay @l srafy H Searfed a1 avqar ud
Hamell & HIfa® e & INT B I T HET T ¢ |

ORT <9 &7 I M T F AT &, I8 <9 [qBhd Hearal & 3R

fOTT T BT I 3T HH BT & I8 < AfAHRIT HEeAT & |
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(ii)l;l'f%f fad 3y (Per Capile Income)— el faerT & 719 Hx1 & forg uf
FfFT M B T AT Fad AHT AT © |
AT M BT < B Gl odE& F IR T W S AWTHe 0T
BT 8, 98 ufd «afad o wgerrdn 2 |
ufq @fdd g = I Ay

Bl STHAA

e

awq fafes el # ffaled wf3Agat &1 AT oA usar & —

(i) SMILIHAT & QIEY TN BT IJHTG— 9 YoTell H T Afdd & Ir_T Ul Il
B TR 9T T J1ga—dgall &R T offh add § I8 =T 8] 2 |
(i) Heg @& AU® BT IFHE— 9 [ATH Gomell H el o & Hed DI A
BT 81 STH TP U B oM T gER T Bl B A ST Usdl ©
Hifs fhel axg @ dqcl fhail AT H Y g ol SN, I8 ATeH Bl

HiS Bl © |

(iii)a¥g BT IR ST HicH— 9 YUITell H %] & dacl 9%g T Bl oIl &
T TR BT GUE SIAT B & Ol & | HY dvqy U 81l & Sl Sleg
g < B drefl 8l 2 |

(iv)9fasr | Irad dA W DHfSAs— 59 Yomell # wfasy #§ 9EraE FEl fhar o
FHdT 2| A B Uh S8 A gAY SE ST ArEdl § dl 98 Bad 98d
JMILIH AR Bl B o S Fhall © |

Group-E Disaster Management (3Mu<T Y9e)
3k (Marks): 06

ifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

28. 38 I &7 TEAT ¥ 31fdd g9ifad grar g ? 1
(®) PR AR IRES (@) AMS; SR 3T Uew
@ FRES ) AIueE
Which region is more effected by landslides ?
(a) Kashmir and Uttarkhand (b) Odisha and Andhra Pradesh
(c) Jharkhand (d) Madhya Pradesh
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29. BIGT H 91 3 BT RIT BRI g 2 1

(@) 3D auf (@) fRurae & 9% &1 e
@M eI H AT AT IR L

What is/are the reason/reasons responsible for flood in Kosi river ?

(a) Heavy rainfall (b) Melting of glaciers in Himalayas
(c) Silt deposition in river bottom (d) All of these.

30. AT ¥ 37U T FASK © 2 G I g9 B oy Ul &1 9o | 4

What do you mean by Tsunami ? Describe the protective steps of Tsunami.

S<INHATAT (Answer)

28. () IR 3R IIRES

29. (9) g4 w1

30. AT T Urdpfcieh SMUST & | I8 Ueh WU ¥ed & Ol &l eal d 9 (Tso)
IR AR (nami) & 7 & G BT 3 € T"IE UG AT BT e T AN |
T oe™l B UH e T Bl @ e gRUM WU 9Hg ¥ ol
Igd g T 9 dc @ IR fawenfid g § | gAEl e |gsad 0
3MATel ™ UG Sarer ! favhie & BRI 8l 2 |

(i) deadl &= # geRmo

(ii) SUTEl & IUINT A FAMT BT AT G DI FaAT BT AT |

(iii)THTH DI YHU AR FAFREN 4T ARG |
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MODEL SET-2
Group-A History (gfasr) 3% (Marks): 20
f=ifed sgfasaia gedl § 9 981 eed I —

Choose the most appropriate options in the following multiple choice questions .

1. BTl AR Pl S bl gl AT 2 1

(@) FTATS () S
M gl (8 ©d
Where was Carl Marx born ?
(a) England (b) Germany
(c) Italy (d) Russia

2. WIS T & 3eTe B o ? 1
(F) STl dToTad g @) Hrdiee 8%
@) HITHT 7T &) FRraReT g9
Who was the president of Swaraj Party ?
(a) Lala Lajpat Ray (b) Motilal Nehru
() Mahatma Gandhi (d) Chitaranjan Das

3. QAT FHSIAT ... 30 H BRAT | 1
The Poona pact was held on -------------- A.D.

4. T SfOTBT BT GG ..........o....... SR [HAT AT 1

Young India was composed by ------------ .
¥ geAl &1 IR 60 Tl H T |
Answer the following questions in 60 words .
5. STl & THIBRYT H ARSI B JHADT W) oy fewol ford | 3

Write a short note on the role of Mazzini in the unification of Italy.

6. TISI IFT TR Udh fewoly ford | 3
Write a note on the Dandi March.
7. 3iEfiaRoT & 3Mg T FHST § 7 3

What do you understand by Industrialisation ?
=T USl @1 STR 120 W H T
Answer the following questions in 120 words.

8. faua™ & wWdzar GU™ # 8 o O & INTeE &1 9uiF o | 7

Describe the contribution of Ho chi minh in the freedom movement of Vietnam.

arerar

ARATG IR 3_rerd H U &I 9T Td J9Ta IR UhTe St |

Explain the role and effect of press in Indian National Movement.
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S<IRHTCl fd8™ (HISTORY)

31. (@) SHAT

32. (9) oo g9

33.1932

34, WETHT TTell

35 AT T AAMfd, SrRifD, Aifd@eRr R U b gHde o1 98
rgarfedl & W AR BT Faxd AT| 1831 T0 H WU I gl
AT & ARGH 9 AUl SToll & UBHIBRU Bl YA fhar | ared Uede 3R
UIT B I8 I g8 AHe 8T | A HISA DI SSAl H YA BRAT UST |

36. HETCHT TTell = 12 HT€, 1930 &I 310+ 78 fAveRa WeAIfidl & wrer <<t aran
URY Bl | Tg T FIERAT 3MSH ¥ SIS ddh 240 Hidd DI 0 24 A7 H
QI 5 | 59 AT Bl S50 TGS D UM THD AR THD DI Dl 9T
BT AT | SHD T & GATT ST_lel- URA 8 TAT| <9 & fafd=1 Wi #
TS BIA Arehy AAIE URH fhar 737 |

37. ATENMHROT U QT Uihar g o awgeil &1 e a¢ U oR A/l
NI BREMI H BIidl g | $94 Yoil 799, $ear diel, IUDRU, 519 Ud dolR
@ wEdgul YT Bl 7 | SRR & gwend 1891 Hal & SRIE H
$Telve # garr| RufTr OFfl, TolTST ved, UTaRe, AU ofF, 9 goid |
SHH HAE@YUl INTR 3T |

38. 8 9l M= & O U [Fel9 uRaR H 19 #g, 1890 &I §IAT| IHDI MRMHh
fR1eT #eep! H 8% | 98 |rgdrel fGaRYRT ¥ BIh! Y9Tfad o | IE- 1930 20
H faff=1 Irgardl T[el @l Uhdidg @Y fagd= R urdl &1 T o |
98 B9 & f9vg IReem S ¥ & oSl |T| 1940 30 H SMUM §RI
fITd ™ W ARHR B & Ugar BE B a7 B U & fAeg TReel
JE URM B TAT| 1945 0 H BAlg DI Siia-l H A%ol 87| fdua+d &l
T EIfYd T T &R sH9S Jiedel 9 B °f A |

perer
ARG U9 A RGO ST <l & AW Udl &l e %9 9o
gTfad fbar | U = fadrer 9 &1 HnR) Hifcdl @1 uaiwrer fhar| fader
AT Bl Fedly DI HIRAR Sl & A 3T |
A= AAraR—u=l 7 g9 ehraE, died WRd B e gasn ®

fAff=1 vell @I ST & A IOFR fhar | YRA™ G goRa! 7 U9 &
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®M AT | MRAT I T SASh WeR @ fawg gFare fafi= srsre ®
SHAT B! AEER 999 & forg uRd fosam |

IRA U9 9 Rg-—JacMEl & A Udhal @IUd &x- & G
T | Tl IR BT Ul B G § dreE, FU6l b Teg e b forw
S o [Aeid R | U A Aeayul s fdar |

Group-B Geography (*31id) 3k (Marks): 20

fiferd sgfamaia uedl § 9 98 eed g9 —

Choose the most appropriate options in the following multiple choice questions .

9. fIeq YR 399 wa AR ST © 7 1
(®) 5 LT (@) 5 JAT
M 6 3T (¥ 13 el
When is the “World Environment Day’ celebrated ?
(a) 5 June (b) 5 July
(c) 11 June (d) 13 July
10. PSR LT S g Iog & Rug g ? 1
(P) SINES (@) IrH
T TEuQe (&) BACH
Kaziranga national park is located in which stata of India ?
(a) Uttarakhand (b) Assam
(c) Andhra Pradesh (d) Karnataka

11. 981 28 9 Rad Il 31 gfed &

Fill in the blanks with appropriate words :

(i) A¥e SENT BT BTl ATA oo = 1
————————————— is used as raw material in cement industry.

(i) Se—ScTeT & fore wRa # ... I 9RIg B 1
————————————— state of India is famous for its jute production.

12.f9741 U9 &1 IR 60 WeRT H © ¢ 3

Answer the following questions in 60 words .

fegrR # v SAEw @ e § R sHuen ¥ e gfg g8 2
D A HRUN B ook N |

There is more increase in urban population than rural population in Bihar. Give any three

reasons in support of this statement.
13.f9741 U9 &1 IR 60 WRT H © 3
Answer the following questions in 60 words .

TEUNT—IATIT DI YHIIT HRdrel I BRBT bl gof B |

Explain any three fachors which effect the location of industries.
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14. 71 U9 &1 IR 60 TGl H T ¢ 3
Answer the following questions in 60 words .
THreg NG STEd U R & 999 9 fafer g | d ?
Contour lines are the best method to show relaief. How ?

15. 71 U9 &1 IR 120 ¥I&T H 7
Answer the following questions in 120 words .

qgqa g Aa! 91c! uRATSTARA | EHdTel It AT BT BT G0 By |

Describe the advantages and disadvantages of multi-purpose river vallay projects.

aferdr
R U8 GR YRd BT G AFIE 9978y qr Heferfad @1 sifbd #Iferg |
(@) Prell 18T BT &

Drow the outline map of India on full page and mark the following by indicating the
place.
(f) Arca of black soil
(g) Mahanadi river
(h) Lakshadweep is land
(1) Corbet National park
(j) Tropical evergreen Forest
AT
EECISERERIEIC CIE
Only for blind candidates :
JEN— &} fHE UhR gIiaroT UgyoT 9 ©§ °

Describe how manufachering industuies cause environmental pollution.
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SAYHTAT (Answer)

39.(P) 5
40. (9) a1
41. (i) ¥He SENT &I BeaMlel FAURR ¢ |

(ii) Sle—sdred & forg wRa ¥ ul¥=d e I uRig B |

42.f98R # YT SR @I gl H e o H oA dfg @
ffeRad R 2|

(i) Rrem & fou waie whe, diets

(i) ISR & TaTd AT

(iii) e, ReT Ud oy wredl gfawmil o uiftd

43, S IT—HITUA El’ﬁ H"'Illrad hxdlc Clr\l"l DixXh [] f\ d % —

(i) ®ead AT B TIft

(ii) AT BT Gfaer

(iii)gToTR

44. FHITE @Y ST UG R B Gad WXl Ay ® Faife —

() ST NI BT SAS—AE BT TEI—e! I U Bl © |

(ii)geH Tpfae TRfadl B WEl wu I uelRid fbar S Hadr 2|

(iii)UgTe, USR, FarEre], Sayurd AT faf= UeR @1 g & Helmiia fe@mr
ST 6T & |

45. 9g3QQYY AL URITSAIST A BlFdrel o ffalad § —

(i) ST fer=oT

(i) STe1 faggd Sere=

(iii)Texi g1 RHars @ e

(iv)AET BT Fea AHT

(v) Wiedl & forg ey dvg g9 |

IESqaYd ARl yRASHRI | FrEfaiad B gl 8§ —

(i) MPY BT AT 9 S 2 |

(ii) fST # <Taorar &1 9o |

(iii)faRaTqT B AHRIT |

https://www.evidyarthi.in/



https://www.evidyarthi.in/



Group-C Political Science (RTSTiIfcr fa=sim)
3h (Marks): 17

ifea agfdmedra uedl # 9 |l fAded T+ |

Choose the most appropriate options in the following multiple choice questions .

16. 70Tl H lbaa BT g RATYAT He g3 7 1
(®) 2005 () 2006
Q) 2003 (%) 2010
When did democracy re-established in Nepal ?
(a) 2005 (b) 2006
(c) 2003 (d) 2010
17. RT 1 TG HHAISTDH FAIT RIT § 2 1
CORSIIREIE (@) Y
@M EUSRdR (&) AW |l
What is the main social problem in Indea ?
(a) Racism (b) -
(c) Communalism (d) All of these
=T Tedl &1 IR 20 eaT H - 2

Answer the following questions in 20 words .
18. STHYY & Gl U&il Pl Ieeid B |
Write the two aspects of popular struggles.
=T gl &1 IR 60 el H « - 3
Answer the following questions in 60 words .
19. 9! JT=Tel ®IT 3R Pal garr ?
Why and where Chipko movement started ?
20.MIRT # HTT BT AIEGRT | ST FIT FHERT & 2
What do you mean by power sharing in India ?
=1 gl &1 IR 120 we&l H T 7
Answer the following questions in 120 words .

21.9RT H AT BT f[Ib~=IhRoT H} MaeId & 7

Why is it necessary for decentralization in India ?
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SAYHTAT (Answer)

46. (d) 2006

47. (8) 34 9

48. SN @ & U8 8— APRIHD Ud THRIAS | oHIdd Ud NS WY
W AT gRIEAT Pl G PR Bl IGavy WHRIHD © | I Fqeel &
feg ITEAf &1 WIT FPRIHS & |

49, U] STl 1970 & qUH H G IIRIEUS Ui H RS gaAT|
JT<Tel & YOIl grax oflel 9g 0 & | Ig Uhiarol el & fore fbar
TR AT| STl H ARG AER W gell &l dhelg & Ry § I8
ararel fovar war| Tiigarel faeryex wfgermsii 4 gell 9 fRigs we Ul @l
T B |

50. TSTHI IR & WITRIT & forv 9 & IEER Masds €| 9Rd |
faf= T a8l @ 9 sifwafad ud ggae & forg aar &1 favres
g B AT H ATEIER MUl T<hNid | g9+ @ forv ol smavdd & S
2 |

51. MR Yo faurel ooz <2 & | el fafderar § gapdr =Rl iR gt
BT 2| R4 Ifde § I & 39 wr R faurforg fear mar 2— @,
RISg TAT AT @A | ds Ud 5] & d1g ] bl yAhayo] W
TR W R T 2| S A B AT dw DI AGddl B, I LAl D
I 3T AT B | R @R B o & I @1 AT 8 | 3MH—3TIe
& H BT B B [0 Bg Td T WU ¢ | IEfed & ATID AT Bl
CEd §U BR DI [AREIRGR U ¢ |

Group-D Economics (3refemen)
A (Marks) : 17

ifod gfdmedra ueel § 3 98! fdded g |

Choose the most appropriate options in the following multiple choice questions .

22, 9Rd ¥ o<y a9 @er SaT ® ? 1
(@) 1 S | 31 fegmR d@ (@) 1 IS I 30 9A qF
A 1 WA | 31 7 TP (& 1 RIaw=R 3 31 =T d&

The period of financial year of India is
(a) From 1st January to 31st December (b) From Ist July to 30th June
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(c) From Ist April to 31st March (d) From 1st September to 31st August
23. JIGIHIOT T Nef 8- 1
(@) faash Ot va e w® e
(@) AR, Yofl, THAId SR, a1 JaT8 g1 Q9 &I efagawen &1 fawa
rfeTavel & A1 WHaY
@) ERBRIGRY Bl YAl DI g1
(&) oI W 9|
The Meaning of Globalisation is
(a) To check the foreign capital and Invetment
(b) Co-ordination of country economy to world economy by trade capital, technology

transfer & information flow
(c) To increase the process of nationalization  (d) All of these

=T Ue9 BT IR 20 T H T |
Answer the following questions in 20 words .
24. J1eferawer fd dEd & ? 2
What is economy ?
=1 U &7 IR 60 ¥Rl H < |

Answer the following questions in 60 words .

25. 311 BT KT & AT T [ © ? 3
What is the relation between income and poverty ?
26. difge fafa gomel o= € 7 3

What is monetary system ?
=T U &7 IR 120 W@l H T |
Answer the following questions in 120 words .
27.RA WPHR & R ISR Fold & 7 DIF—dIF ¥ SRIHH IA ST 32
g 7 7

What are the programmes being executed by the Govt of India ?

31
ST HREUT B IRGR §RT ST TP YOITeAT BT gl P |

Describe the Judicial process constituted by the Govt for the consumers protection.
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SAYHTAT (Answer)

52. (1) 1 3 & 31 A dB

53. (@) AR, USll, ol SRy, gaaT Jag gNT <9 Bl ffaear &l

fawq erelegeRen & W FH<Y

54. JJIRAT TH YT oA & ords sria faf= uaR &1 anfdies fsamd &l
STl 8 dT S §RT AlRT 370+ MIeIHAA dl Fe Hd o |

55. ATAIAC: 3 & AR WR 8l AN Bl MR Ud T g3 ¥ dfer Sfrdr 2|
AT BH B & BRUT d AU FAqH AGeIDAl bl AT IRT B H T4
Bl BT B D URUTERGRY 99T HH Bl & 999 BH B B BRI
fafrT +ff &9 grar € e $=3 fEior & ) ®F el 21 O fmir
B X BH B A U IfIT 3T N BH U BT £ 39 aNE | TN B
qh Ferdl Y& ¢ |

56. Aifad faf~a yomell § 749 & AMIINS Ud GRS Siigd &1 Farel
qqT & ARIH BT 8| §9 YOl § Ugel $I Afdd MU avg am |
JEPR HaT UT BRal © AR B IH JaT A 37U AEqRIHBAT DI 3 TN
RIEA 2| P 59 Uomel! H qaT A & Areg| B SR Sl 8 g4iely
9 Hifgw g gomel sed €1

57. YR WRHR & gRI IR Gord & fory F=foRad srisH =y S
RE® -

(i) I T ISR BIAHA— 5 BRIHH DI FHIMT 1980 §0 H @I TS |
D] G Iqa¥d NUSHR & aexi d ghg dor grHior el & ameR &
R H gRadd &RAT o |

(ii) THIOT FaT WRISAIR  URTET0T BRivA— 1979 S0 H THOT Jal avf &
RISATRT Bl R DR & 10 Ig BRIBHA Tl 71| $HD daq gaT av &l
fafr= gor @ ST & T, e gRT 98 WRISHTR &R 9 |

(iii)TTHIOT AEN ISR TTRUST BRI I8 HRIHH 1983 30 H YR fHar
TAT B | S BRIGA B IGeeT S Tl 7 AfFEH 8, % ISR UG FHeAl
AT |

(iv)STare’ ASHTR AINHI— HRA IRAR - 1989 30 H IS I ISHIR
SHRIHH Ud ITHI0T AR ISR RS HRIHGH b AATHY STdrEy IeiTR
AT Bl U™ b |

(v) B @ dqcl 3Gl BRISH— 3H BIUBHH I YHIIT 2004 S0 H @I TS |
gD IGQ¥T R Id ISR & Goid Bl GG AT | 39D Ifid Aolge
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BT RIATH 25 % 9N BT YA qha R H 3R AY FoIgY S & w4 4
& I 2 |

(vi)IET T SRR RS TIGTI— §9 BIRIHH &I YHIATT 2006 50 H &I
T | 39 AT & d8q aafg et # ariior e § ude 9RaR & Us
e B a9 H BH F HH 100 a7 JHIA 4 dTel ASHIR Pl TRUST &
TE B

arerar

IO TR AREUT SfAIH 19867 6 T8 SUHIGIRN Dl Rl & FHRI
3fereT IuHTad—fdaral & fUeR 8 WRHR g§RT BFRaN fg=ariie @ave
H T3 T S Ffoiad © —

(i) e R R R Jor (BRE)— S fHET a%g a1 HaT BT HoF 20 ARG 9
®9 & O SUHe U Rrerd fer "w # oS W 9ed Bl afe
IUFTEIT DI ST =g el 8, SHd e T8 8 ol IS JMANT H AT o
ST HHT & |

(i) 5T TR W IT KR AN — od (U a%g a1 Ha1 49 20 o 9
IR AR 1 PIS & A 8 dl SYAIGAT -1 Brprad Iy AT | GOl
P Fh B |

([T "R UR I SRAN— A B GG AT WA BT AT 1 RIS I AP
g T SUFTERTT U1 R IS RN H TS BT Ahdl & | TR [
TE T A 98 ARY @ 30 feA B IR SeddH AR (UH BIe) #H
3T HR HHT ¢ |

9 AT | IUHGART BT Y TG IR < YT BT 8 3R qH7T
vd o9 &1 f g9d Bl ¥

Group-E Disaster Management (3Tu<T Y€er)
Ak (Marks): 06

frifra sgfadmcdra geat # & 92 fdeed g |

Choose the most appropriate options in the following multiple choice questions .

28 f98R BT BH—T &7 IIeuT &5 & ? 1
(®) udi far @) Ui faer
@M el IR & SO feER

Which region of Bihar suffers from flood ?
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(a) East Bihar (b) West Bihar

(c) South Bihar (d) North Bihar
29. 395 ¥ A UIgHAdb MUl A8l 8 ? 1
(®) g (@)
@) 3Mdddig (&) YhH
Which of the following is not a natural disaster ?
(a) Jsunami (b) Flood
() Terrorism (d) Earthquake.
30. 777 Uo7 @1 TR 60 VGl H T | 4

Answer the following questions in 60 words .
g6 & ANl yMg | g9 & U ®—ar Surg fhu o =i |

Describe the remedies to privent the disastrous effect of flood.

STINHI AT (Answer)

58. (8) SN fd8R

59. (1) 3fTddhdrg

60.97¢ X1 99Td & Surg AefaRad & —
(i) el & BN AT dede a1l
(ii) dfer a1 o7

(111)
(iv)fET ® Bera BI B

(v) e -3 Bl g Bl
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MODEL SET-3

Group-A History (3fasr) 3k (Marks): 20
FrfoRad sgfamadia ol 5 4 98 fdbed g —

Choose the most appropriate options in the following multiple choice questions .

1. MR Gfag= § far w73 9 Sfeue Fenes feww gefeg 87 1

@) =Y (@) T |
SONRCICCIEC I CIERMICIEIEE
73rd amendment in Indian constitution is retated to -
(a) Centre (b) State
(c) Panchayti raj (d) Non of these
2. gR<M T &I e fe 9y g8 ? 1

() 1910 (M) 1906 Ty 1907 (&) 1905
When did Muslim League formed ?
(a) 1910 (b) 1906 (c) 1907 (d) 1905

Wl TRl ¥ R I @ gfd & —

Fill in the blank with appropriate word :-

3. 1904—05 & HHA—SMUT & H oo, DI IRISIT TR | 1
---------------- was defeatedin the war of 1904-05

4, A MR TAD R . GIRT BIHGA AT RIS DI YD [HAT
war | 1

Home Rule League movement war started by Bal Gangadhar Tilak and -------------
7 el HT IR 60 W&l H T |

Answer the following questions in 60 words .

5. WAIE W Uoh fewo ford | 3
Write a short note on ‘Satyagraha’.

6. IIU H ARG & [ABMN H U &1 AP BT qui B | 3
Describe the role of Napoleon in the development of Nationalism in Europe.

7. YHSATHIU H IR HUfIl &l AST B We N | 3

State the role of Multi National companies in globalization.
=1 Tl BT IR 120 T H © ¢
Answer the following questions in 120 words.

8. ee—d19 # wgare & A &1 avfe &Y | 7

aferar
TARTST OS] ! AT0AT Ud Sgaed &f faaasm & |
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STINHTEl gide™ (HISTORY)

61. (1) TATI T |

62. () 1906

63. T

64. Tl IUC

65. AIRIE &1 €39 ¥ 3R AT wr menRa €| wrefieh &1 AF+r o &
Plg S O 9 ¥ URT 3R o & fOwg 8, S9! uiftd & fou
ANIRG G DI AIIIDAT el TSl | Ueb Aarrel fa=r fhel feaen foar
@ G 3R AT & Bl W AP Bl W B Fbal o | TSI B
AR FAIE Gacll DI T8l qdall BT EAIR 2 |

66. OIS = 3191 JMHHAYN H Scoil 3R THAT & ISl | IAEAIe &l |-
P ST AT | TAfelds & 3MHAY W I 3 oY A0 &l &
Ude H o MY AW I MU Uhdl B WaAT BT b g3l | STl
THIBIUT & AN O Fel UST | AuIferdd 1 SHAT & 300 ¥ 21fdd Waa Iedi
BT AT B AT 39 XA BT GY FHAIBY SHAT DI oFdT § IEgarg Bl
AIGAT BT ST b |

67. YHSIHRY & UYATd B fAbfid o3 4 fdgg d&, JRsiig ga1 oIy, fagg
MR HTeq AR Aefyd <2 & g dufal &1 gd e 2 |
fafer= IR Ul o d, M1, wded, gEr IR HUR &l §oditas
TR R Yol a3 BR rdl AT Bl ISR IYeTe 61 & |

68.2041 Hdl & A(RY H fee—d # Wgdrg &1 9GAT B fdbrd URA gl |
1904—05 30 H UH URME < SUM §RMT ®F &I Wi fbr oIH 9
fera—dIT & N H 3McHael BT IR ol | w4l 3R AvewEy & faarl |
A AT BT gaTfad o |

fere—d @ df=g ural § % dRE-—99 8 U9e w9 9 BN
WA & 3T oT| ¥ IR qodl difhd, 3™, HHIsar 3R R H
qRTA- aeel] BRH &l | U [aga-rd gas 8 9 g & 9@ § &R
qagas Rell Jg b gRI Bl <l DI Al o ol | HRiEra
faameRT & ywifad &1 @ g =1 1930 S0 ¥ fAgaa™ AwIard) < &I e
fHar| 1930 g0 & fde #al =+ Igare & fAerT & AnreE |
3rerar
HETHT T §RT 3RAZINT 3M_IdA- & a9« | ARG H "R =R

o1 g Uar g3 | vl Rerfa 9 1922 g0 # wan aferge ¥ fyais= < vd
AT AT FE® A AU uRue & afR ®R9 Ud 9ed & 376X AXBR ®f
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It &7 faRe e &1 URTd @7 | 98 UNKd TR S8l 81 9T | PR |
SWIBT TdR 1923 30 H FIORSTT &Y U4 Al ol "8 o WRIel rél &l
RATUAT P |

WRIST Uiel & Savd o WRIeg & Uif|, S gRr wenferd
TRON IR &I T, 1919 30 & JRIH # awysd Gur | ¥eq H
RIS G & AdRll gRT SHRI Il &1 Ry YRl &l rcAfdears |
Y T o7 |

Group-B Geography (*31id1) 3k (Marks): 20

fAeifhd agfdeedia us=i 4 9 98l fAdoy g+ —

Choose the most appropriate options in the following multiple choice questions .

9. Fr=ifrad # &1 wgfae e 98 8 2 1

(@ T (@) e
@M AR CIREIEE
Which of the following is not a natural resource ?
(a) Forest (b) Rivers
() Town (d) Mineral

10. T8 DI I AEFN G99 ofF T & 7 1
(®) NH-7 (E) NH-1
)  NH-5 () NH-2
Which of the following is the longest National Highway ?
(a) NH-7 (b) NH-1
(c) NH-5 (d) NH-2

11. 981 ¥l | Rad WAl 31 g &

Fill in the blanks with appropriate words :

(i) DT IRATY AT T8 oo g H Rerd 2 1
Kaiga Nuclear Power plant is situated in the state of --------------

(i) DU DI A B oI FIH SOGHT oo T % | 1
-------------- siol is the most suitable soil for cotton cultivation.

12. f977 U9 &7 SR 60 WeRT H © 3

Answer the following questions in 60 words .
TETSl T &1 3uer #art v #§ uRagd ArEl & fdd fawr 81 dF
HROT AT Y 39 HAF DI WL BN |

There is more dense network of transportation in plain areas in comparison to
mountainous areas. Give three reasons in support of this statement.

13.f=1 U9 &7 IR 60 <l H < 3
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14.

15.

Answer the following questions in 60 words .

Tl JENT MR 9RI I F 37T a7 F93d & 7

What do you mean by light weight industry and heavy industry ?

=1 ge &1 IR 60 Tl H < 3
Answer the following questions in 60 words .

IR § BiY & o Sucter fb=gl o9 WrMfers faenai o1 qui o |
Describe any three geographical conditions which are suitable for agriculture in India.
T U9 & IR 120 Tkl H < - 7
Answer the following questions in 120 words .

TRT § Sdle WSl dal—wal uig Wl & 2 39 e &) fa9van gary |

What are the areas of alluvial soil in India ? Mention the important features of this soil.

ST
N S GR 9Rd BT U A g1gy q21 F=fefiad o sriifed & =9
3ifha H‘ﬁﬁﬂ'ﬁf:—
() I T e
(@) TP PIIAT SUEH &
() TRTGR TR e
(&) MeETeR) dar
(§) SMaaR

Drow the outline map of India on full page and mark the following by shading:-
(k) Kanha National Park

(1) An area of coal extraction

(m)Tarapur Nuclear Power Plant

(n) Godavari river

(0) Amritsar.

3T
had TFeM BET & g
Only for blind candidates :-

GIIE 31D &1 GV BN qAT Sd] [ILed aadm |

Present the classification of vion are and explain the features of each type.
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SAYHTAT (Answer)

1. (i) BT gAY fIgd ' FHfed T H Rerd B
(i) U @ Wl & ol WaW IR dlell YT 7 |

=l

72, UBTS! |IT @1 3uer Herel 9l # uRagd ArEl & ffs {edr 8q &
forRad R 8 —

(i) FAae &3 § gRass AwEr B AT BRAT I 81 ¢ |

(ii) &7 @4

(i) &= H WEd oA o S enfefe fhatead 89 @& BROT T
I8! gRagT ARl BT Ifd AR gar g |

73.8c® a7 € RN ged o ATl &I YANT BT & 9T GIR AT Al
8o BId 2 | SN—sodei-e Suavl, Rers #3iq anfe |
INT ST # MR &ed AT T JANT BT @ 9o A Sarg | Ry g
g | S—g-gwTd Se anfe

74.9Rd ¥ BfY & forg Sueter o9 dimifers gfaamd f=feRad g —

(i) SuTs fer

(i) g STt <=

(iii)eTJehel STeTdTy

75. R | STdlie gl & &F f=feilRg § —

(i) OSTTT | 3 O Bl HRd &I gad HalH

(ii) 77 U | T iR ATl @ =fedt

(i) Q9T TAT JNFSYT § HEMGl Bl et

(iv)@e H AFRAC

(v) HETET, TRTER], B, BRI, T—TgAYS BT Soal |

9 g1 @ favman f=falad € —

(i) Steire frel &1 T8 are], Riee vd gfter & A= oud 9 2iar 2|

(i) d BBl UGS HaT § dA1 T, A1ddl, g, HIDl, qoled odl BHdl &
fore Sugad A STl 2 |
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Group-C Political Science (RTSTiIfcr fa=sim)
3h (Marks): 17

ifea agfdmedra uedl # 9 |l fAded T+ |

Choose the most appropriate options in the following multiple choice questions .

16. AT & IABR ARl B YwHMT b 5T H gg 7 1
(@) ISRAIE (T) 99 A
@ [@ErRA (H) HERT &
From which state the movement of Right to information is started ?
(a) Rajasthan (b) Punjab
(©) Bihar (d) maharashtra
17. IEOI FHTGT UTET & HRATIH bI= o ? 1
(@) oy Rig (@) BrEiRm
SUIRCE SN () I8 e
Who was the founder of B.S.P. ?
(a) Rajnath Singh (b) Kanshiram
(c) Ambedkar (d) Rahul Gandhi

=T Tedl &1 IR 20 eaT H -
Answer the following questions in 20 words .
18. 91 BTUFRY | MY FIT AAST & 7 2
What do you understand by Booth-capturing ?
=1 Ul &1 IR 60 ! H G
Answer the following questions in 60 words .
19. I & HAfTDHR AT<leTd R T fewoll fored 3
Write a note on the movement of Right to Information.
20. HETHS TR LT THhdT H dY TSI © 2
How is the federal system assist the role in national integrity ?
=T Ul &1 IR 100 TRl H G
Answer the following questions in 100 words .

21. 19 B8l & TS UG BrAT Bl guid o | 7

Describe the formation and functions of Gram Kachahri.
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SAYHTAT (Answer)

76. () oI

77. (@) BIRME

78. IS IHIGAR YT Siid GHARET B & oIy ddhd & dof TR g BUERI
BT BRI AT 2| 98 AU FHAD B HEgH I AGIEE AT o™ bl
T BT 2 |

79. 3HD] YHIT 1990 20 H VTR ¥ 8% | A~ WRpRI oAl d Aqoieyl ol
&1 SIFATell ASTqRl &1 HIASli~dh B HI AN DI TS | AXBN SRIAS Bl
M dade @M ¥ SR B QT O[T o7 Bad: owasd &l
Adels HR b folU s=klel= URH 8 AT| §9 3Rl b Fadl &l
AMTHR 3aler AW AT TAT| 3fda: IToRE VRGN - 9 2000 30 H
AT BT TSR Gl B G147 | 2005 50 H Dvst ABR o 9 G 6
JMYPR FHIA Ut o |

80. MR e # WIRd &I (S8l BT HI' HE T & | TS THal Bl
Tl @ foly &g 31 wfaadenel ey &A1 1 8| &= IR 59 & 4"
chIg I o & oIy B =), \Iog g U9 FHd< Al & fdqiid afdddr
1 fauro Tt wU ¥ &Y fear w1 g b 3R Al & &l Geld 9 Y
e & forg wdfea grare @1 gafa AR g 1y 2

81. [9gR # Ul o7 IfRIH, 2006 @ STTAR UTH HdEsl &I TS dX Bl
UTIHTE § | $9HT oA ycuel Hafad grT fhar War € s9e siavid Ud
frafee = sk Rad e # fafed 4a 8 €1 T 9a T 500
ATl B UM &Ram © | UMW Faed H W gfa ofd, g
ST, fuser v, e fUssT aFf Ud Afgamsi & o7y JReror &1 uraer
2 | SHBT Brdhlel Ure 99 T Bl 2 |
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Group-D Economics (3refemen)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

22, YRT H AIGTT AN BT T3 e T ? 1
(®) 15 ATd, 1950 () 15 A, 1950
(M 15 AT, 1950 (1) 15 FdwR, 1951
When did the Planning commission established in India ?
(a) 15 March, 1950 (b) 15 May, 1950
(c) 15 Aug, 1950 (d) 15 Nov, 1951
23, IR ERANTT I Y™ & drell Fad AU FeE ¢ 1
(F) AEGARD 96 (T FHH
@M  HWEBRI 9B ®) >R
Which is the most popular non institutional finance providing loans ?
(a) Commercial Banks (b) Mahajans
(c) Co-operative Banks (d) Businessman

=T U &7 IR 20 ¥l H < |
Answer the following questions in 20 words .
24, qETAT fhd HEd © ? 2
What is outsourcing ?
=1 UeT &7 IR 60 ¥Rl H < |

Answer the following questions in 60 words .

25. Ufdl fdd g FIT & 7 3
What is per Capita Income ?
26. fa<iTg HwITH | MY T WASKT © 7 3

What do you mean by financial Instilutions ?
=T U &7 IR 120 W[ H T |
Answer the following questions in 120 words .

27. JTQHROT & SN BT Ui &N | 7

Describe the components of globalization.

T
ST P DIF—hIT ARVHER & ? I By |

What are the different rights of a consumer. Describe it.
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SAYHTAT (Answer)

82. (®) 15 #T1d, 1950

83. (@) AgTo+

84. 519 GG HHAN 30+l Hefdd Faffd HaW ool ol & WIE W)
fb=fl aredy ar fagel wvem | g ol ® ar R Adrell bl rgaEidl
PEd © |

85. XY A H QU B Pl OGN ¥ UFT o4 W Sl HHS ATl & I9
ol @afdd g wEd € |

gfe fdd Mg = A M

2T DI Bl STAEE]

g6. foxfra wvemy <1 Qterar sy @ VA Rt @ ®wEd &, S Arl @l
3MITTHATS BT X HX 2 9 UG GaT Gl Hraf &1 Frres dehl 2 |
J HRIU BN, IENT, AR S 3fde Sl & oy sfeudbielle, Heudbel
3R <TdTele A 31Er F0T @ giawr v el 2|

87. JTNHRY & U gy AeforiRad 3 & —

() g 3R @WUR Haell EREl & HHI— AR JAREDI Bl HH HIAT
qifeh avqatl Ug AmRil BT A A Sfa—YaH 8 b | g6 AWMU I8
BT fob fdae SHrf-ial R 9ok § U1 a¥qU g Wi o w9 9 99
Fahar & R i UBR AR HEfR fade # oo axgi ud WA 99
GEINE

(ii) Yol @1 ety yarg— VAT araraRer &H war o fafr=t gen | 4o &
Uaie W wU 9 8 W | g9d e g8 gorn fo faqel doiufe wra |
T oY Adhd § 3R IR Tohfy fagen § e w7 ¥ad §

(iii) Ut a1 de-ife &1 ey uae— U IR SRE w9 fh e fed
Uiee & U <91 O <9 ¥ UrEiie] a1 d@-iie T &R 9ad & |
(iv)s @1 e gare— VT ardERer g9 6 [t <e | sm e fed

I B S-S HD |

(v) Ioft &1 gof uRecieficia— oot @ qoi uReciasfiiciar « dediearor &1

3MITTEH AT 7 |

AT
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IOHTGIT HRETOT JMAIH BT IRT 6 & 3T IuATGaT bl FferRad
GT@WW%QTFQ%:—

(i) gReT T SfSBR— IUHIGAT DI UH IRl iR Hamell | FRem Ui &Y &l
IfPR & R 99 IR a1 FwRT &1 &1 8 Fa 2 |

(i) AT U BT SMABR— SUATGAT DI I Tl ALIH AN W U I Bl
FEPR 21 Rrad AER R 98 gegy A1 Jarg w¥ed 1 [y H Fahd
g |

(iii)gATd BT BT ARTHR— IgdGd A= s, [HE, w7, Y01, [, ATHR
TAT o BT a&gai # fhl W a%g BT g1 A BT Wi o |

(iv)gTarg BT ADBR— IYATHIT Bl 30+ &l BT J91fdd &= arell a1 9ral
B SRFT Hal B AT TG DA BT ATBR T |

(v) &fagfct @1 sifdeR— 59 R & i Wil s 9% a1 HaT Ifad
& el FMdell a1 ST SUD Gl JalTaslT & ST |

(vi)SuwTadT fRrem &1 SferR— Iudadr fHdl avg & Hod, SHd SUAINT,
PIfE TAT FAT B TGN T ARTHRT S ard 3l & o arems |
Rrféra Sudad araTgel ¥ 99 @ ot Wd 99d 8 9ahd © | 39 UGR
STHRTT DI HY AHR QY Ty & 9T g8 o/ T WRIEd Asqgd
P |

Group-E Disaster Management (3Td<T Y«€)
3T% (Marks): 06

fr=ifa agfiweda weai § ¥ |l Recy g+ |

Choose the most appropriate options in the following multiple choice questions .

28. T e UHR & 3MUaT & 7 1
(P) UTdhidd 3MUeT (@) A YT
@) AT SMMUET @ T F BIg T8 |
Drought is which type of disaster ?
(a) Natural disaster (b) Manmade disaster
(c) General disaster (d) None of these.
29, fFrfalRaa o o= wigfas muer € 2 1
(®) AT T (@) 9 fawhre
@ HY ()  RHE geHe
Which of the following is a Natural disaster ?
(a) Catch Fire (b) Bomb-blast
() Earthquake (d) Chemical disaster
30. =1 Uo7 &1 STR 60 VGl H | 4
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Answer the following questions in 60 words .
gErs ¥ g9 & D] BT Ieold o |

Describe the remadies applicable in draught condition.

SAHATAT (Answer)

88. () UTdpfde 3MMU<]

89. () =

90. gET$ Ol UGl & Udgs ©Bg & UDR Bl ASHN FaWH B, o
g—argerdlle 3R GBI AN | SIgdreE AioMT $  JAaid—sy,
qTerd, HRif, UgH, MR & fAHTH P SToxd & | Te8 & Aegd d ool H
STl AT ST Fehdl 2 | Uolld 3R BRI § 83 &1 STl [dura) 8 gare
@ FHRIT B IR A A Tar 2

https://www.evidyarthi.in/



Group-A SET-IV 3ieh (Marks) : 20

gfdg™™@ (HISTORY)
Freifera sgfamedta uodi § | W@t fasea 9 -
Choose the most appropriate options in the following multiple choice questions :
. GfEa ote S<IeH 1 YEe w4 SR Fel 6 ? 1
(F) 1920 &S (@) 1922 9= (1) 1930 TE (%) 1928 faeedt

When and where, the Civil Disobedient Movementwas started?

(a) 1920 Lucknow (b) 1922 Paina (¢) 1930 Dandi (d) 1928 Delhi
2. ‘T 3R WE’ 1 Afq w1 sreeran fEed fwA oo ? 1
(%) wfet (@) feeer () foreT (=) fafem™ wem
Who adopted the policy of, 'Blood and Iron' ?
(a) Mezzini (b) Hatler (c) Bismark (d) William-I
W v A fw T A
Fill in the blank with appropriate word :
3. ST A WH i T g0 H FEI 1
L.L.O. was established 1n........................... AD.
4. ARG W fEemha SRed % A &l 1

.............................. was the leader of Khilafat movement in India.
=1 Uyt T ST 3TfueRaw 60 YISl W < :

Answer the following questions in maximum 60 words :

5. 1848 %o F WIHIE! ifd & HRUT FA F ? 3
What were the causes of French revolution in 1848 ?

6.  STIEANT ST=IeH JoH S TleH o, #9 ? 3
Non-cooperation Movement was the first mass movement, flow?

7. oifErfieo 3 wergd Y oTeifast #t fFa @ yeifsa fa 2 3

How industrialisation effected the livelihood of labours ?
= wwel a1 ST stfieRam 100 wreEl ¥
Answer the following question in maximum 100 words.
8. TG T HI A F ot ? THE N WWE UL 2 7
What was the incident of Maili Village ? What were its effects ?
AL (or
AREIE TAWE F F FHRO O 7 F A8 FAWE qFA @I

What were the reasons responsible for Bardoli Satyagrah ? Was this Satyagrah successful ?
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(1) 1930, et
() T
1919
TETeT Tt

1830 %o I wifa & 1% ¢ fHfea wia &1 TN a1 98 IIRAE T o, foreg dSirafa ot 1 wmefs
ol 9% 3N Frgaa gumsEst fis amifeas @ anfée gyt &1 fauedt om @ frfaw & 99 ganes
FFH FHI HIE A el | I H JEH TF ARSI qgH oitl 22 WAl 1848 i o & g §
AT A USHES R forn sfaa: off fhfera &1 U Siea e wnEn gEll

HETHT e G/ 1920 $o H =@ T SHSAN EIeH v & Yo| 59 <o o1 s6E g4 e T
Q. AR H SMER AR TS Ao o 5 o foaem & feqi &1 & fod o6 ™ &) stmeam
A< | Ugel! ar AU TS © qiF 1 Hehey fordn T sHE YOR & gl 39 W ol eel ar’ 39
M=o § o2 UM R fHam, Teey, o, sraar, femt enft 4w femm

sirenfRor 3 ¢ SRt yomedt it S e SR T w9 fAfid @y e wIR sEn W agd 90 e
TeTl PR-+R e SEM H T @ T TR W Aeey #1 st B T @ % e e sud
F TEgel # TOEH & fau o7 79 W@ SR S A g S w1 dre URe fwa stoet
feafa & gur = fod gfferl 3 o=ieM & ¥ a1 woa: a1 999 # J&eTa gl

it foaorem & A o e U a1l 1968 § st @i e S wis w1 dreeee § g g w5
R e e % weft gl # aeHt ¥ 9R e SiRdl SR wwel w1 s a fon T oew e w5
Hfgenett & @1 & Al 9% amfew Tonenr e e afemat #5728 e @ R = ot 5r een
TN FeaeE R e ® eI o

T TAEIE § RN % A4 UF gel oTEA o= a9 e e 39 weT & I9wR feen fafa=
HER-TA F TH T F Y@ ¥ 91l fave WR W T "eA Ot el wfafkar gEl an aE SRt
TR F HZ A 52| fova Swea & <ae ¥ emfnt wifs & forg Sar 2 e smfen aeufa e
3 A Fow foaam afew i fee-<iw o wifa = foaw g5 fawm 2q 9= ot dismn &t = =@

YAl (or

ARG TS 1 G&d FR0T fafes R gr ffaml ® w3 1 sgrn 91 om framt § o i a2l
T3 22% Wi H Jhg F GHA F FEH T G GREC F FAE 7 godT 9 A F Agd H SRR
% foeg amE fFan 3@ eiicer o wfgensti = 9fwa w0 9 9w foran stidie & a9eq o ®oudo gyt
T et St AR+ S faum feg #t geed @ @ € faam 2 e, 1928 Wb St it emie
o nfHet = MU TEFER H G IS AR I i AT F 22% TR 6.03% HL AT T T A=
" wfeenetl gR dead W w2 #HER’ #: Iy §
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Group-B SET-IV 3k (Marks) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9. ¥R T fRd Uo7 H frem # 2 1
(%) TR (@) TEn (1) dfFerrg (%) FAlEH
Ennore port is located in which state ?

(a) Gujrat (b) Goa (¢) Tamilnadu (d) Karnataka

10. 9RA I ol T =k s | wle T e 2 1
(%) 7 (@) 5 (m 6 (7) 8
India 1s divided mnto how many postal regions ?

(a 7 by 5 (c) © (d 8

1. W A R e WO

Fill in the blank with appropriate word :

() TR & sdw F1 geE Hewqol FREML.... O - 1 1
The most important fertilizer industry of Bthar is iocated L N
(i) T fae # geEd 9 fod w@E fagiy & wmd T SEE B, Fe1 9 2 |

......................... is the term given to the elevation of any place determined by bench mark.
12. = vl @1 W sHfasad 60 v A
Answer the following questions in maximum 60 words :
foer % dmd fog@ #=1 1 Seor@ S| 3
Describe thermal power stations of Bihar.
13. 1= weAl 1 S sAfEad 60 weR 6 3
Answer the following question in maximum 60 words.
- e i F Seei@ 3
Explain Non-Conventioanl sources of energy.
14. = wA 1 S| sfeswad 60 =1 ° F
Answer the following question in maximum 60 words.

= ifa 9 =9 7 g9 © 2

What do you mean by green revolution ?
15. = gl &1 3w stfersmaw 120 vl A ¥
Answer the following question in maximum 120 words.
Rd | eI IREed # avH F:ifSg ? 7
Describe the pipeline transportation in India ?
AYAT (or)
T IS W 9RA FT T @ qHES SR qon FeEfafea # s@ifwd = 9m sifwa Fife
(%) fomi 9o & (@) Fergwrn (M) == (%) foemEmeTm (F) e

Draw the outline map of India on full page and mark the following by shading :
(a) Digboioilarea (b) Kalpakkam (¢) Chennai (d) Vishakhapattanam (e) Kolkata

HAYET (or
et T o @ f
Only for Blind Candidates :
faer =+t $f9 et | == Hitau)

Discuss the problems of agriculture in Bihar.
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10.
1.

12.

13.

15.

ST (ANSWER)

gMe (GEOGRAPHY)
(M) dfeerg

(") 8
@ =
(i) Tt Har
TR St il @ st faer § wE aria faga w ¥ T weoriia, wiE SR 93 ardg fagd w=
pricid
FEaia R gHel TR faer #1 gad 9€ qrda faea ufEsm 21 98 S g0 wEtsa NTPC &

e e FX B wiG A faga # = quveR & e €1 W | o A faem s wenfya e
T R

- e wd H aEniE, @RS, TEA-se, Said U6 A S, Jad e ud S Sl
el 21

IR Tl 1 T ToRm, ToRe | g3 @1 Uad Sl w1 o ToRE ® #es qo afberrg &
TARIE | gon 21 Saiig it Fos 1 @IS a1 gawaq ° gen 21 fewrae & v § sqarda s g4
wonfya foan T 2

efta wifd #1 IEeTa 1967-68 | FH SCEA @M 3R @R e § 291 F1 e 5 % forg faan
T 1 A wifd & STaTia U WL Sl 1 YAN, e, §a1 ", faaE ®1 gfaw $fu &t 1€ dwAiw
3R dreifiRl W s e o foed 1 ud wee % Soed 9 g g w6

=@ wifa =1 waifas yu@E domE, sfamn qon ufem S w_e § gam

IS 1 STAM T TEiel YSifead % we g W & foy o e S ) wEuee & g e,
Siett, v e, B A9 SR T8l @ R g % A= @ g ot ufeed e S a2

29 H Fed dell H SARA &F 9 VNUEvIene 9 qel YNUEens ¥ 4ol ScaRl % aeR a9
IR & S 9 S 2

qRd § Fea 9a afeed & forg geff qen sw-qdf wra ok afvedt ara ¥ ey e e T
et den STR-qat wRa ° g7 femEE @ s v efean o e T #1291 # ged T wEyeEd S
TR - TR - TR - s - H - TsTee - A - g el qrEaere 2l
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Group-C SET-IV 3t (Marks ) : 17

Taifa fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

16. 3" FHIA 1 AW FAU S TF WA Ajafed & gR W fHA w4 1
(%) I F1 SEFR FE (@) FI HEA () IR FFA (%) =7H ¥ F T8l
Name the law which was passed after a mass movement.

(a)  Right to information act (b) Companies Act (¢) Excise Act (d) Non of these

17. 9 9 FH T e # 2 1
(F) AR TS FHE (W) GRAT S e (1) S g (%) ‘=’ &R 3H
Which of the following is a national party ?

(a) Indian National Congress (b) BIP (c) Janta Party (d) 'a"and 'b' both

e gvel 1 I 20 v W T

Answer the following questions in 20 words :

18. Tl % A=l ¥ 9 = e € 2 2

What do you mean by decentralization of power ?

forer gt wmr S 3ifireman 50 vl W © -

Answer the following question in maximum 50 words.

19.  TSHUE FI TSHAIG HH Tha F1 TAIGT Hl © 2 3
How coalition government effects democracy ?

20. HeTeHs wEA orgeen | fofed Sfaum wbi smavas @ 2 3
Why a written constitution is necessary in the Federal System ?

1w =1 3 stfireRam 100 vl W T

Answer the question in maximum 100 words :

21. 9RdaE Gfaym # ge faemaet #1 g #51) 7
Describe the main characteristics of the Indian Constitution.

AU (or

G & YR W 9RG fava 1 waifys fafagmet amen <o 21 #9 2

India is the largest diversified country on the basis of language. How ?
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16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(F) G F AFER FA
(H) ‘Eﬁ‘aﬂ?h@dﬁ
o % fom=ieo =1 sfaum o % =ey H #iEa T # sqE fafv= w1 w fawfsa s 210 9
T THF G AR H% 0 WA H A" g e 2

AuE ¥ TeEUE Hi TeEita it € T #) TedR daife guEa # SeR W o g § 9 9 9K
TFR T fou foamum ® "eafa 7 eF & aeEeR o Ty R 9 21 TesuE % e Ui <ol
F &5 a4 THE @ USd € s feq @ el fea & forg e fofa o @R wed 2

I O caaeen | fafed |faem 1 e o eyl €1 gEE ee e & Sl w1 asat
F Heg wfadl 1 T Sean R S Savas B ST RN B 3R A ® o9 e i fefd
IO B W F T TsAl & g fafen w1 @ vfaaat & faumm @ =mates oot fofg 25§
ST B

A e # e favmand fefatea #-

() HEEA diwan - GRA wihdd U GOE wiehad 21 Tgufa sefaifernt w1 Seted URifesR g
2, o arwfae wfuesr wefafog o af=fed e 2, e gum gumsst e 21 whaieg s
wr & forn amfew w9 @ g9 & ufq swEr 2

(i) T 9aUHN - 9§ fafed ®1 sy yonel foaemm 21 fafes % qeaw 9 wasm 9 s
wfafafeat = g7a &1 =l 18 o 7 3ud afusw 3y & ARG 1 HaEE w5 H1 ATFER W 2

(iii) HifeTr AfaR - 9Ra & dfaem g AR &1 ©: e AfaER g 81 39E G0 H1 ATUERR
Ieadq IEed F 9 2

(iv) TS =TEfes - AR d@fEuE w5 E ® o i w1 s Smates S EeE 2
(v) foafea dfaam - 9xa #1 |faum fava =1 qa 91 fafaa sfaam 21

YT (or

IRA H TE 1500 qOE WGHT F F9 F g E FH 114 9 GYE F Foia fawa fwam
T 1 ARG GEHE % oTed ge ° 22 wmwisi i T G wn 21 3 E-swfiEn, @i, |, =,
TR, S, YR, TS, i, TS, Wiewdt, AfoTqd, o™, wurel, demet, Sfen, o, e,
Gk, don, qiue, 391 wed e 9 fe @1 fet 2w % wept e A et ok wweh S 21 T
TS 61 I 9T 1 OCAT o SMUR W faag @ a= & forw fet % wa-wy st i off wuw 9w
% 7 H A= el g8 @
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Group-D SET-IV 3t (Marks ) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22. ‘T’ fee dw o 4w ¥ 2 1
(%) W (@) iR (M) AurE (=) = @ |t
'Rupees' is the currency of which country ?

(a) India (b) Pakistan (¢) Nepal (d) All of these

23.  oOHM wEA H enfie fae ¥ W & w1 Avem gt € 2 1
(%) FY & (@) SEm & (1) G & (=) ‘@' w7’
Presently which sector 1s contributing most in the economic development ?

(a)  Agriculture sector (b) Industry sector (c) Service sector (d) 'b'and 'c' both

e gvel 1 I 20 v W T

Answer the following questions in 20 words :

24.  wEERH ok w7 2 2
What 1s Inclusive Growth ?

e goel o s srfueRaw 60 el H F

Answer the following question in maximum 60 words.

25. fw@ml &t W@ oM ®O D STEvAEd Fi e € 2 3
Why does farmers need credit or loan facilities ?

26.  9RA ¥ THF e w ToE R deen % gRr et ® 2 3
Which is the institution that does calculate the national income in India ?

1w & 3 stfireRam 120 v W T

Answer the question in maximum 120 words :

27.  faER & onfé® =rawen W TR0 1 HHERHH T91E F I0H F1 7
Describe the positive effects of globalisation on the economy of Bihar.

AU (or

sreforaen it GO W N GHed € 2 3% TR am o sfer ww @ 2

What do you mean by the structure of economy ? In how many parts are they divided ?
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ST (ANSWER)

rdymE (ECONOMICS)
22, (®) T 9 g
23. () Ham &

24. 3T famma =1 =8 gfswran foag g9 & 9t ol &1 Sfem-5) 91 eid1 SMu qen o7 &1 F1E o9 atf
fawm = =9 ¥ gf=a 9 @I

25. faer =t sreforawen gema: $f W enuifa @1 78T e 75 WiaeE N weIe A1 STycas B9 9 HfY g
THY TrEfHa oo SE ¥ 9 g Bl Wl @ afusmiy fram o w1 g fram € sefean w5 w
IHY gefyq sEm & fog ot #Y sravasal B Q@ wE & fou R e w1 F1 STavashal gl

26. 9RA H U ™ F TUAT F514 WEAH WS g0 H 6 21 qe gy faftd w1 9@ i e
F IHS THIVE F S| UL o & God § yedoqaee % A enl w1 AEE g gl
27.  faeR & o1fé oroen W AT F GENEF T9E TS © S frefafed -

() F oA § gfg - dvdlieor & FRo7 sm feafa o off TR @me-geen # 9me § g6 2 eref Fi
SarEA o wl 9fg g R

(i) fodsit yorer fraw 1 wif - Svdieo & woreaey faer & farelt yorer faw o gen 2 ok ofesy o
faeeft worer fraw o gfg +1 emen =1 < 2

(iii) TF S 3719 71 9 safem oma § gfg - dvdiwto % SR faer 9 ®1 @ de i safw o gis
w2

(iv) Tovawia Sasier aeqell 1 Suerea - dveiR & wRT faer & 9ol § agusE FHiE & ged
wH, S, ede 96, T w9, R U6 9 sowRie a5y R ¥ Suersy B

(v) UR & o # gfg - Syl & woeasq R & §gd 91 Gifeaw IS 3TN S U5
ITf T geie onfR S ° Wt wem W ARt # ®© 2
(vi) RS §% wd W HEfE S - Avdleol % HR0 EuE A §%, a9 e, faen
YIAEE, 20 TS, srdtan senfs 1 faer o st gem 21
T9 YR faer 1 sferemen W AvEior w1 HRE 99 gl 2
HAYA (or)
FefererEen 1 WEA 9 qad fafa= sae &9 % fawsE 9 2
sreferereen o fafa= wR &1 oS fFad =t St e 39 fomasti ®1 o 9w ® st e e

() el & - Wi eF F1 F9 &F i FE S 8 TS Al HiY, IYUeH, TSl e U6 a1 3y
I Fl

(i) oo &= - fadia &= i sieifr a7 «ff w1 S 81 s siola et oemm, fof s, s
At S - 19 iR faseft snfx om €

(i) JAtash & - g e i Yo e off FE S 21 Th ata ok e =1, giEed, §9R i SR
Tafs faFamd & 2

SEHE G9E § 39 & eferaen § 39 dl ani A Far &3 &1 AveH way afuw )
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Group-E SET-IV 3f& (Marks ) : 06

QT Y= (DISASTER MANAGEMENT)
Frifera agfamedta vl ¥ & wEt fawew =7 -
Choose the most appropriate options in the following multiple choice questions :
28. fyeAfefed & 9 A 59 9me 1 @€ € sae wwa | gaifad T e € 2 1
(%) faer (@) #nEE (1) ufe=m S (1) e

Which of the folliwing state is not effected by cyclones originating in the Bay of Bengal ?

(a) Binar (b) Jharkhand (c) West Bengal (d) Rajasthan
20.  TH HF @ FH YFR T 8 ? 1
(%) W= @ (@) HeEe g (m) Hf gan (%) T g@n
Which of the following 1s not a type of drought ?
(a)  General drought (b) Meteorological drought (¢) Agricultural drought (d) Local drought
30. = weAl w1 SR 60 ¥Rl A T 4

Answer the following questions in 60 words :

&0 em % sTEm Wy Sifed)

Describe the utility of Ham Radio.

STY (Answer)

28 (®) USEIM
29. (W) TOHEE gEn
30. W fed & swam fAfafed € -
() st wRem, SRl # SEH-TEH, aPRe Td ST Har & fa g 2

(i) THH ITEM ORI ® &4 H 9l A ¥ fFE W Uwar @, e TE Ul Sl A1 S § %W
T 2

(iii) Toen, sEyE =1 =fEma w@l & fou 3@ s fF=n s g% 2
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Group-A SET-V 3k (Marks ) : 20

gfdg™™@ (HISTORY)
Pt sgfameda uws ¥ ¥ W fawen o
Choose the most appropriate options in the following multiple choice questions :
. 9RAE T wUE w T e e g ? 1
() 1856 (@) 1885 (71) 1890 (1) 1892

In which year was the Indian National Congress established ?

(a) 1856 (b) 1885 (¢) 1890 d) 1892
2. W we ¥ faw et 5el 9 ufven #iR Y % 6 SR g o ? 1
(%) Tm ARl (@) gt anf (1) 3T U™ (1) fEolt 9
In ancient times, which land route was used for trade between Asia & Europe ?
(a)  Silk route (b) Cotton route (¢) Northern Path (d) Southern Path
W v A fw T A

Fill in the blanks with appropriate words :

3. EH HIA D THA MEE.cecvvvvvensenmanennee ol 1
.......................... was the rular at the time of Russain revolution.

4. R TS FHUG & Tel FEAY o 1
....................... was the first president of Indian National Congress.

=1 Uyt T ST 3TfueRaw 60 YISl W < :

Answer the following questions in maximum 60 words :

5. gl oiR WO & wwieor § S @ o ffer oft ? 3
What was the role of Austria in the unification of Italy and Germany ?

6. Tt foEr o ? 3
What is bloody Sunday ?

7. R IR HER A w1 ol #K) 3

Define the domestic and cottage mdustry.
et wo w1 s sifireRam 100 vredi W §
Answer the following question in maximum 100 words.
8. o U e | et @ Aem @ fade W 7
Explain the contribution of Mahatma Gandhi in the National Freedom Movement.
SAYAl (or
2 I | T w9 ¢ 2 ™ i @] fwen w2

What do you understand by 'New Deal' ? Why was it implemented ?
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(&) 1885
(%) Wwm Art
R frerew fgdt
i = e

Teelt 3R SR % wEE ¥ ffea ged 9t e om i w1 wider eifre wR wfafmaard em
I e § SO geell q S & TR 2 sHare 99ty SR ST=ierl F <o # S
warE T detf #1 Taaer Aifqdl & wron s o s o wear # aeE ggd w6l 1) gt
% U % W% 2ol IR WHA % UHIH H Y@ S g g )

1904-05 %o & TH-IUM 5 H ©H UF S AR Ho& JUE ¥ YASd 81 41 369 906 § SAIHd
w4 H S+ fose # a9 S, 1905 Fo ® UH AR SHEHE YS¥H Fd U SR & HEd He
fyzment ®1 3R sgar o1 @ o freed |l w AT J Tiferal werd e eww o qR T g sy
feq oam =1 &7 om safere <9 ‘ot FEEr’ # we 9 9 #

o] AN - w9 TSN ® WeAw § Re] TR W R STHEren SE s SEn wEen g1 ud sEn §
TRER *® wEE THE Gae | Gedrh g €1 figd 1 add S, T2 w4 SfE e e & e €

FIR TAM - FA G, 39 TS T F9 AfKE F T § Al S HIR ST FEAN &1 TIHT,
¢ e, HEe we IS TR ISl B

IR TET = F 1919 $o @ 1947 o T 1 HIA MR I AW ¥ A @ 21 Zfeqor rfiment
Y died & =% el 4 TomE # weAE ¥ TR 91 Tl ® Uk SR a9l SEHIEE & Heel
AR H oA g (a1 3HY TS 1 TEF TR W TF G999 51 & ®9 7 a9 wnfm g

fafew TR =t 5 fatieht @l S - oiz o, Sfediaen m e #is, faersa guen a1fg 3
TeST F1 1920 H FHEAN <O IE FH R fFaw = T fafen wEn i wel 9R ww Afaa
ARG TR T TR AR Sl |1 e 9257

TESt & Agd § 1930 To W S A & HILAH ¥ TUF FHMA AlgHL WiGTT A AR YRA
foham 5@ <o § Hfgened S a=ai 4 e1qayd &9 @ 9 feam 8 evr, 1942 o H ST F Foria,
SR ARG SISl =i it YETd F1l ' a1 7' & TR & Y TF faune 59 sr=ieq e gal
19 9RA 1 THaAa feEd 8 T 15 ST, 1947 Fo & W wWAA gal

HAYE (or

ik et & El ® T w T s T w3 % Sevd ¥ smfit ueufd weRfen S wedee
3 72 onfie fifq TRt € = e #1 AW e T e o FfY ud sEm ¥ gger wenfud &
ol Aiehehed Hifq & sfarfa ufaed & oAl qon T fowm wmEl & fou enfée gema q2ar =
T SHE U USRI 6T GO gl Aftehl 1 wergd d gfg ® o wm % 65 fraa ) feeE
w9 i & 9 F1 wa™ fH wan et # onfie g w w9 % faw w2 Aifaar s )
TR, WIS wd gt Hifaal ® SHAhearER S T
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Group-B SET-V 3k (Marks) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9. - GUEV H g H @ W H T FFE T F HE At @ 2 1
(%) faer (@) dfferrg (1) ofe=w dTe (&) " wom
Which state of India has made it mandatory to provide rain water harvesting structures in all new buildings ?
(a) Bihar (b) Tamilnadu (c) West Bengal (d) Madhya Pradesh

10. ¥ ¥ ®1 ¥AN 39 ¥ WA: W B T 8 ? 1
(%) = (@) THA () Titer (=) dgam
Which of the following animals has become extinct from our contry ?

(a) Cheetah (b)  Grey langurs or Hanuman (c) Hippopotamus (d) Panther

1. W A R e w O

Fill in the blanks with appropriate words :

By susmssasnad dfrerrg § feor we@ 2ol v 21 1
.............................. is the southernmost port of Tamil Nadu.
B sl TR HT AR F2I FEeA B 1

......................... is known as the coconut region of India.
12. 7 w7 &1 s Afaswan 60 v H §
Answer the following question in maximum 60 words :
ARG ¥ T8 TEI HRE@M SHYRYE (2RT) H F e w2 3
Why the first steel company of India was established at Jamshedpur (Tata) ?
13. 7= 7o 1 IW Afekad 60 vesi W R
Answer the following question in maximum 60 words.
J9or FfS § 39 70 THe 2 SHHT & fawwand =ard) 3
What do you mean by plantation-agriculture ? Mention its two features.
14. 9 991 %1 S Afewad 60 v= H 7
Answer the following question in maximum 60 words.
IRG § GRSl @l WHEA i #1 e 3
There are huge possibilities of harnessing solar energy in India. Why ?
15. =1 oAl &1 3 fsad 120 o=l A 2
Answer the following question in maximum 120 words.
T W ST F U € 7 SUCSd & STUR W GHIH| T SR Y qen S F 7
What do you understand by resource ? Divide recources on the basis of availability and give examples.
AYAT (or
T IS W 9RA HT T @ g SR qen feEfafed wi sifwa w2 am sifea Hif
(F) = uad faer (@) iferm SR e
() FIE SURF & () gt = e (T)fasFT R o9 FREm
Draw an outline map of India on full page and mark the following :-
(a)  Ghana Bird Sanctuary (b) Petroleum producing area
(c)  Cotton cultivation area (d) Areas of red soil
(e) Vijaynagar Steel Plant

Had AAEH BEl & fau
Only for Blind Candidates :
e SR 1 A H ad] SuH! favae w1 aand)

Present the classification of iron-ore and mention their features.
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10.
1.

12.

13.

15.

ST (ANSWER)

Mt (GEOGRAPHY)

(@) dfrerrg
(%) =i

() FARIRE dfrerrg § feom gad <ol oo 2
(i) FIA IRA F AR & FeeA 2
IRd ¥ YAl T HREM! SHIRY (IR) H o & FreAfafen wwror € .-
(i) == HIe S Wle 379, Higel S SREFANR TR § Syered 2l
(i) T gfhF ga qen § Suers gl
(i) GO T G SArgfd|
(iv) iR - Bfeadn 999 9 ke
ot S ©F St ot ¢ foed fawm Ioit o St @ ok T € wEe i Saee R S 2 R,
FIET (FEa1) 3R TF F1 B 6 THER F e 2
Juor iy =t fagmad fr=fafea & -
() ¥e geTd: M F ¥l TEH AU sar SR ° o9 T S 2
() 9E: =S &9 ¥ UH @ TR H wEA ITE W 2
9qRd GRS w1 G afus €, it ara sorsfesy | feud ® qun wel ufder feeinier ém o
20 WA GRSl ST i W Gl €1 Fiaieeed Wit gRI g9 i € faga § aiafda e s
21 ORI A UR HEE W SEehl Sgd 9gl k% €qifyd fRaAr 1 g €
THia ® o qeft g A1 gl S HrEsied & g ST a9 S, §EeE sedrnt g
STASAl & YR TR GGEHT 51 afishior fefafem € -

() vHfawEd SO - WHfaw a St AT % fog vt ¥, wfaven dOen Feand §1 S-Te,
@i, a9 =13

(i) HFEFEd GEEA - 99 g0 A @t geed S g fawm 2 v | @ S #, qeedd
TaeE FHEdr! 2

Y - 9o, Ggeh, I oA, fawm & fafee geend enfy)
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Group-C SET-V 3k (Marks) : 17

eI fa9™ (POLITICAL SCIENCE)
Freifera sgfamedta uoai § | wEt fasea 9 -
Choose the most appropriate options in the following multiple choice questions :
16. 9G¥ Yl 9K ®% H W-FH WHER FF FH ? 1
() 1975 (@) 1977 (77) 1989 (1) 1991

When was the first Non-Congress government formed in India ?

(@ 1975 ) 1977 (c) 1989 (d 1991
17. %@ 39 4 wggelia oqaeen 7@ 2 ? 1
(%) 9ra (@) e () faA (91) TR

Which country does not have multi-party system ?
(a) India (b) Pakistan (¢) Britain (d) Bangladesh
et wom @1 3w 20 Vil W T
Answer the following questions in 20 words :
18.  ifirer srEEEa @ § 2 2
What 1s gender mequality ?
Fret wom o1 e aifereRan 50 e A

Answer the following question in maximum 50 words.

19. TS o1 SToRERTOr 4 § 2 3
What 1s criminalisation in politics ?
20. HEATHFER W TF Higw feooh foe 3

Write a short note on human rights.
1w =1 3 stfireRam 100 vl W T
Answer the following question in maximum 100 words :
21, Frederr =1 ored 9 € 2 Ra ® o Fderw = smowaE € 2 7
What 1s secularism ? Why 1s it necessary in India ?
AU (or
U1 T T 7 ? T FHEA UF TH H TS gam g ?

What do you mean by foeticide ? Is law is successful in preventing it ?
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16.
17.

18.

19.

20.

21.

ST (ANSWER)

ot fa@™ (POLITICAL SCIENCE)

(@) 1977
(m) fa=

ot | fefm & emyR W feenet oK gl § St deur R S ¥ 39 7w e srguEa #ed ¥ 9w
STEHMAT TS, AHfe, 31 gerafe siefq & &9 o Jen % fierd 21

TSI | 9 el &1 HeW il 99 FHosl F F1 TA9, TF @E TARN & 94 § a5 SeH &
foTU SR A1 WSl HaEH w1 NS el i qSEITa § STHRor w1 e 4 A 21 3Hd et o
T ST ¥ @ BH w1 vgih gedl 81w qeeiias g9 Sia givea s @ fo sttt w1 fewme
%4 F1 9 HaREt # SrEwdl § 39 w8 S e 2

IRG H H 391 & AR H g AYER F1GET B o TR wem # w2, 59 AeeifieR wed
F1 unda dfaum ¥ difes afusd # aed v 3 faes sfusr vem frw w2 wwa ® e ®
Rl #1 e % fou "aeafwR s w1 we w2

HfRYeT T TITEd SR B1 THeR e oref B ® o ofR werifa g
Tt Ty # frafafen wfRtem & aeon e w faew € -

(1) T 1 A HE 9H AE B

(i) T I gfe & @il od wme =)

(i) AR T STH-3TH 9H & FATIR TA-3UEA FH HT s eni

(iv) sTeudeas ot & feal =1 T =+ &

qRA 1 Tk e I S D STl sHte o @ T 9rd u sgadl 2w 21w aw e
Fl UHT I W T UW % AW a A H 9 9. fSu™ 39w UHAl, sTEved U HEER
ERECRI

YA (or

U1 T 1 e efeer e gy i Mefur gR g W 3 @) adeH WY H eSS sl
% AreAn | o Frer § & forgy {1 war on o s @1 ue ® 59 o U@ € S At & ordan
ASH HT TEd T 9 B YU T FE T FA B T

IRd § YU &A1 W T& HHA ¢ foheg 30 FH H1 SR O e 2l g1l I8 Teh Wit GHe
off B1 A WA-Q G SO f 39 G99 o SeEE 2
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Group-D SET-V 3k (Marks) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22,  IudE SR faag e mAmEn S # 2 |
(%) 13 #74 (@) 17 5 (M) 15 | (=) 19 ==
When is the Consumers' Rights Day celebrated ?

(a) 13 March (b) 17 March (¢) 15 March (d) 19 March

23, faer = frm ot =1 wfa =afa o waifues & 2 1
(%) T (@) 9T () Femet (&) =

Which district of Bihar has the highest per capita income ?
(a) Gaya (b) Patna (c) Vaishali (d) Dharbhanga

et wom @1 3w 20 Vil W T

Answer the following questions in 20 words :

24, =% fafa yomedt o R 2 2
What 1s Barter System ?

Fret oAt o1 IR arfirshan 60 vl H € -

Answer the following questions in maximum 60 words.

25,  oTfee T e #ed € 2 3
What 1s economic development ?

26.  TodtoWHo T & ? 3
What is ATM ?

e 9w w1 S erfaehan 120 vl H © -

Answer the question in maximum 120 words :

27. U fasi Gt fRd wed € 2 3@ fhaw 9m § Sie man @ 2 auie 7
What are National Financial Institutions ? How many parts has 1t been divided ? Describe them.

AYAT (or

TS FACE 5 TR fraw § SR B TE-gm | Sed 2

How is the production inter connected to one-another world-wide by the Multi-National Companies ?
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ST (ANSWER)

rdymE (ECONOMICS)
22. (M) 15 =rd
23. (@) 9

24. % fafa womedt ® Rt Ut awg w1 fRE g0 9 # 9% SIRE-URM B 81 39 & fa 1 9
e, 34 | Tl age S

25. 3T farspre ufterda =1 wferan € forwah gr <isfrer o foreft sveforaeen #1 wfa =ifr o wdl Ui e
o gfg gt 2

T GEF IL9F Ao & GHE &6 § SeEehdl ®1 S9 TR WK FE e 2

26.  UWodloWHo 1 319 & — TwIferd So HefI wRd | 9eft o7a@iias sl & gN 78 giasn waH 1 7 2
% & gr fRu T wnfes # e g wEl ff G g tw fee g € s e w@m % fa
d% gN wF Ta i o fam ma R

27. U fadia weand s dw % forw foft oiR wra Hifqal @ fufor wa feve et @ aen o ®R W
ford wereM ® wE w1 GRS w2, 38 U9 fada g #wd 2

7 < ant o e T R -
() HRE {51 9eR - ST G5 96R 9 S Ud a9 & 69 & {6 STeusele Ud AeashTely fad #i
e d yeeA R S 2

YHIE: YRAT G SR 1 Gisa e srEniad dn 6 fawfea fwan s @) wnfeq &= | e
S fofl & = o 1 forelt S el forg i) €1 Sl sremfea e § <3t S fomm i) st faxia
Feqf wfd # S 2

(i) SRS Yoft TR - R Goft SR gea: e ISt Suersy wUd €1 el gt # 6 ae-ae
ST WA T et e wE # o e 2

M HR T F fmio & 57 fada geensti @1 R AARE g 2
AU (or
TR T 1 TR W T SeIe i Th-gE | Sigdl © -

()  TAFE FEAT B TS 3R SHF 9% SARA F YER FT SH-URA T & ‘o 319’ T FH i
e F Tl feram

(i) FH-FF TEULE FEET 39 F W FEAE WY G €9 9 SART S ¢ TE W
Frfal &t 7 qhAw w1 99 oo 8 9 aguea st s & fag IS o 2

(iii) =S TETE FCHET A B IARA B G SR IR HGER oA 21 H-TE, I, B F HMA,
faeii senfs #1 e a<t Tem § B SeRe! g e S 81 agua wrfE 3 SR et
Fie T 9 favasw § "=t 2

TH TE TGS FHEEl % gr fave & - 9% 9 ScIR i U S8 9 SE S SS9 @2
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Group-E SET-V 3k (Marks) : 06

YT =1 (DISASTER MANAGEMENT)
Freifera agfamedta woi § ¥ Wt famwen =+ -

Choose the most appropriate options in the following multiple choice questions :

28, ‘gAM’ fRm o T oweR ® 2 1
(%) f&ft (@) Huh () A (%) 3Tt
"Tsunami' is a word of which language ?

(a) Hindi (b) English (¢) Japanese (d) Arabic

29.  YHEU-FH=% H IUARR YAl FI GAE W FH HR w1 W E 2 1

(F) ATP=% (@) = (1) IF T (%) &I =

What is the name of the place located on the earth's surface and just perpendicular to the focus of the

earthquake ?

(a) Centre (b) Epicentre (c) Earthquake centre (d) Outer centre
30. 1 9w w1 IW 60 Rl A T 4

Answer the following questions in 60 words :

e (garg) % fem & fau w0 s R sm =fen 2

What should be done to control drought ?
I (Answer)
28. (1) AT
20. (@) Afe=s
30. ga # fr @ fou Frefafe sum e s e o
() S FEEEl w1 ST fawE T e
(i) i faure® &= it fawm dsme gr fugt &t T qon uyet @ foau omR w1 yau)
(iii) T &7 e gl SHH | = 27 57 W ee gure ® 9w ur fouR & % o w@
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Group-A SET-VI 3ieh (Marks) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

. FAF & @aaa 89 9 fReet W g ? 1
(%) et (@) % (M) ¥wive (%) T
Who was defeated in the Greek war of independence ?
(a) ltaly (b) France (¢) England (d) Turkey

2. W ¥ MeER & fEw A fwmE e 2 1
(%) 1755 (@) 1786 (1) 1799 (=) 1815

Which year was the Golghar built in Patna ?
(a) 1755 (b) 1786 (c) 1799 (d) 1815
W vt A faw T # Ul A
Fill in the blanks with appropriate words :
3. Huw fage =1 Age F e 1

The Santhal revolt was led by,

4. FeafHn S 1 ST s F el 1
The spming Jenny was invented by........................

1 wol a1 ST arfueRad 60 WTsRl W T ¢

Answer the following questions in maximum 60 words :

5. HAf@ #E 9 2 i sfem § 9 @i e €02 3
Who was Meternich ? Why he is famous in European history ?
6.  TEMEMF TR AW ud uSe-iS #1 avi w1 3

Describe the chemical weapons Napam and Agent-orange.
7. =N FemwE R feof ford 3
Write note on Champaran Satyagrah.
7wl @ S ifereRam 120 el W €
Answer the following question in maximum 120 words.
8.  IAMI Tl TR H AU 7
Describe the Greek war of Independence.
SAYAl (or
YEAF HI Ul | SHaEEr @i, HeAw i ug weigl 9 i gfEe wt SR w1

Explain the role of business class, middle class and labour class in the process of urbanization.
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(%) qHI
(@) 1786
fag ok #rg
S gt
Tfg Affean &1 Figer o1l 98 =R gfafearerd on 9 TeaEl ud dlFaaes ST #1 g fausdt
oA IEA AT H 1815-1848 F " TAR HI WA TH THIA e H UHhA F TR g fFwam

FHifauHl faari & J6R & T4 & fau 369 99 W F2SR ufaas @l 98 e SHas] S W
JegeR off| T U HeX @ 1 $=1 Afqal 1 gem o

1964 Fo H AR g1 394 faoa ® fFu Tu smeraw § was Tt eferrl @ w1 fwan
ol 3 THEHS oAl A 98l % "Hg Sited U6 wEien] W wd 999 9% 999 S 91 9 99 ° A9
THE FEE AE B 2 S owE § 6o & @y e T [ R w1 2 98 @ 9
fagerea So e Far © ofR faielt e = SeasH W 2

TSie-3iS U wE e o foww i wt uft gow S off| see gatener #i F R JEE e

foer & =Jurw foet # R faerel gr frami 1 oot aff & 320 foe W@ w9 # fow faaw faan
S | $9 AARiSAT Wl FET S o1l A i edt R & o JEameEe off, Fie suH wal wi
390 wIfE FH B S ot STEA w1 Staq IW it 9 TE v o USRHR YE A TR | st
F TRV AH FT AU AT 1917 Fo H AT F fRuH & feq § wwmor § AN wwen SomE
SR FAE SREE §%d @1l TS 9o §ara g3l

AN YT TRl Sfem & SreSg g g & e em 0w § e & faww | gt §
ff T & I H SR A gt | swe fon fedfen fraes Ame deen it T 1 Ee
" Aifed & AU wem i #1339 7 g

1821 o ¥ Ueiasiver faufaendl & Fga ¥ AW ¥ fage IR &1 791 1822 H TIHT #9 TSR gAML
AR T T 1827 %o § @ GHeH | $EIUS, HiE 91 ®Y 4 gHl $ foes Y5 wEaE] w3 H
frofar form gt & wmels | o foer #Y g3 ¥ A1 35§ e e ugn 1829 fo F ufgama it
Y gR1 M 1 TWHETd W g8l Aad: 1832 3o ¥ IAM F UH TaA U "ifyd fwan wam w@fen &
IIE S’ H A TS A T

HAYE (or
YA B AfEA  wEen: FEarh o, germ o e Aegy 9 # fae e g et -

AT 1 ;- IEART 7 qU-AU HEEE] U U SFGEE a1 bl S fE30 SFeEe |y AR, et
=1 forear, o2 I9H W g1 1 ToH, o9 SF FE *1 ygfa 4 el o uw favre sremedt ot S fran

negw o - a7 uw fafem ot en S gfgsiet oS ot weamn @w wem o wed o fafa= e F
FrE o, S-foess, asnfa, g, fafrces, TS, so=, eramme o) fFe ee =1 yeree, faan,
fafercn anfe == = @ o em

HAG a1 ;- YU § FHA-FR@MA T e HT TG A SHH FH TAET FA W AR F @ w2y
e | gfafad Fuw ol %1 A vl ¥ gen vEd #1 sHeed § ged 9€l §ed gl #i el 2
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Group-B SET-VI 3k (Marks) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9. T #F uifas @fie 7 7 ? 1
(%) Hrfs (@) f= (1) TEH (%) e
Which of the following is not a metallic mineral ?
(a) Mangnese (by Tin (¢) Mica (d) Iron

10. A T HEEA ° R SOOI FR@ 1 T w6 T eff 2 1
(F) TSTHE (@) =& (1) MR (=) foemeé
Which steel company was established with the help of Germany ?
(a) Raurkela (b) Bokaro (¢) Durgapur (d) Bhilai

1. W A R e w O

Fill in the blanks with appropriate words :

O = 2 B e 0 -, 3 1
............................ is a centre of iron and steel industry in Karnataka.

Gy Al F1 FHREF 2 1
............................ factory is located at Japla.

12. Y& 9iEed #1 7™ 60 IR H e 3

Give some significance of railways mn 60 words.
Frer w3 srfireRaw 60 vl W €
Answer the following questions in maximum 60 words.
13.  gEedi= H1 qRAE FH W 1 969G 92w 2 3
What are the effects of globalisation on Indian agriculture ?
14. 9 w7 #1 I eAfewan 60 v W T
Answer the following question in maximum 60 words.
T-TRAT I G FAE RE-HE Y FRE 7 3
What are the different factors which effect mining activity ?
15. = 937 1 S sfuswam 120 w=i A ¥
Answer the following question in maximum 120 words.
I IEA 1 ggE grifess gwmeti # 9 w1 9 § yq@ 9 SdRE &6 & AW sadl 7

What are the geographical conditions necessary for the cultivation? Name some tea producing areas of

India.
HAYE (or)
T TS W GG F TF W@ gHtad aARe qu fafafed i swifea w A sifEa wife
(%) fr T sam (@)HTS e &
(1) wHEd & (=) faewr g ()R T99@ HRE@HT
Draw an outline map of India on full page and mark the followmg by shading :
(a)  Gir National Park (b) Manganese producing region
(c) Kaveririver (d) Chilka lake (e) Durgapur steel plant
had AFE BEl & fog

Only for Blind Candidates :
foer o = sEm & fowm W e e

Present a detailed description of growth of sugar ndustry in Bihar.

https://www.evidyarthi.in/
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10.
1.

12.

13.

ST (ANSWER)

gMe (GEOGRAPHY)
(7)) T
(F) TSTHe
() FleF ¥ ele-Terd e F B GEE 2
(i) Suen # HHZ F FR@A 2
@ fEed &1 7ed -

(i) e i T SEmEEE SR T el

(i) 9% MM A FEE GE H 9REed G9E|

(iii) Tt fawma =1 smarfyen

(iv) € & H TSR 3Yae I

JHEAIFI F1 I2YF § TAR TS el w1 fava aredfdm | e
JHeTE H1 HT W FEfaten g 72 € -

(i) A qEAE FITE

(i) @S F I=A-H9en3 fEE (High-yieding variety) 3T 9amT|
(iii) Ffa SR F TR 9F AR F fau sfEa yewy

= T = frefafed w7 gafad @ © -

() @S @ IFE Y gRamE 4 F aeR ged|
(i) A H FeR 9 e

(i) WeR = A

(iv) T Hi ol

(v) @t fafu

M A % fou srEvas dmifaes 29 € -
(i) =9 A9HE - 24°C-30°CI
() = Y9l .
(i) TG Tme fogt foad dieiy, wIEERG, e onfg wr g 2@l
(iv) = i)
(v) W& gfuehi 3R HE FSRl H U@
IR § A H YE SR &89 § -

(i) SW-Yal IRG-THH, HEled, 9fved el
(i) sfeo =1 @tk &= - afgerrg, #3, FHew
(i) SW-ufaw &1 wE &7 - IWEe H 7, feuraa w9 F FHernt|
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Group-C SET-VI 3t (Marks ) : 17

16.

17

Taifa fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

feresdt faer & forg oot o feom 2 2 1
(%) " (@) e (1) et (%) HATeTg

In which district of Bihar is Lichchhwi situtated ?

(a) Patna (b) Nalanda (¢) Vaishali (d) Bhagalpur
fefefed o #H ‘ardE fFam 9’ & vga T 9 ? 1
(%) TSE e (@) we= foz fesa (1) S Y AREV () HYH SR

Who was the main leader of 'Indian Farmer Association' ?

(a) Rajeev Gandhi (b) Mahendra Singh Tikkait (¢) Jay Prakash Narayan (d) Karpuri Thakur

e uy o1 I 20 YR W D

Answer the following question in 20 words :

18.

AT S S g ? 2

What 1s election manifesto ?

1 uga o1 39X 3tfuehan 50 Il W ©

Answer the following question in maximum 50 words.

19.

20.

TR T SR HEEA W SHIRE WA €1 H 2 3
Democracy is based on liberty and equality. How ?

g favg frg ywr amitss faaem = fou soerh © 2 3

How social inequality is responsible for social division ?

= wya o1 3w 2faeRaw 100 vl W €

Answer the question in maximum 100 words :

PIE

TW TR & w1 TE vl w1 el wl 7
Describe the works and powers of village panchayat.

AYE (or
sdfRue qRd Gfaam 1 erum fagivar 21 4 2

Secularism is an incomparable speciality of the Indian constitution. How ?
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16.
17,

18.

19.

20.

21.

ST (ANSWER)

TreHita faa@m™ (POLITICAL SCIENCE)

() Vaislahi (J¥eft)
(@) #e= fae feha
TS % THA [ Ui Wit stoet fifae vd wriwnl & ar 6 fafed w9 H =oon s #)s8 gAet
HYOT-939 FEd 2
T 3R GOEAl dikdT B 4 Y9 SER € WdAd # fid 3w % geff Amit # gne w9 9
ATl YEH H R §| TEH A0 e ifeatad wt e, ety e &1 w@sa, 9ned s e
@Adl, Y-EaEE 9 Ud Ha€eR g & e

AR Wige wifa, o, 5w, fofm, 9, & onfy et off w w gEE & fagra # wier w2

it fade ffvea dr @ amifss fauee & fau 9o &9 9 seEe 21 gmtss fa9g w1 ge SR
I H A T 2| TAF G ¥ fa=-fae od, 9, wifa, @ @« e ww 21 fafaga §
TR T I fasivar 21 foag Fofi-woft 7w fafawm o % fau oo e S 21 s it faaee #
TR F¢ W 2| safae g fase = wara w5 E g e U S g 2
T YuEd & w1 e wfEE fefated ¥ -
F -
() verE &9 % fawm = fou afts Ao @ a9 TR w5
(i) WFfGH AU ® T UG AT HI GEFA HEAT
(i) HESE FEafd w1 AT Ja w
(iv) TEIas Fm@ o wfess geantt a5 1
wifeEr -
(1) IO H v
(i) wHufa o, uro ug faed #t v
(i) TAfT SN € 9w eE W GiEd [y 9 geEeE SEH ur| i #t v
YT (or

eHfRYeET TRAE SiEa 1 ggE faea 81 ardig |@faem 3 ot # for frefatea sy
fuifia fare & -
(i) XA = HE TEE 96 T e
(i) T ARG HI e o, qon-usfa TER FH R gSea IRAE GiEeE Jd 2
(i) Tt off o =t werfasmar 7= < S
(iv) S i =afe wifagel @7 & o9 ¥H T TER-FER HT gH
(v) offieh oo W 9RdE |@fagm fedt st vR 1 Gewe @ B
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Group-D SET-VI 3t (Marks ) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22, 9RA 1 HEG AF B T 7 1
(F) V2 IF 3w sfoea (@) ford d% et foea
(1) &g T S () gfn fawm S
Which is the central bank of Indian ?
(a)  State Bank of India (b) Reserve Bank of India
(c)  Regional Rural Bank (d) Land Development Bank

23,  onférer guR (7€ enféms +fifa) =+t = fasioar € 2 1
() SRR (@) st () et (=) = 4 g

What are the special features of economic reform (New economic policy) ?
(a) Liberalisation (b)  Privalisation (c¢) Globalisation (d) All of these
AU R I 20 9T § € ¢
Answer the following questions in 20 words :
24. T T uiam g 2
Define money.
e wwl @ W sifaeRan 60 vl W €

Answer the following questions in maximum 60 words.

25. o T # R ? 3
What is sustainable development ?
26. U SR 2q fafe= AR @ e 3

Write the different slogans used for consumer awareness.
=1 999 o1 3T sifuaRan 120 v W € ¢
Answer the question in maximum 120 words :

27. T 2w = onfse fowm o U o w@ wiasate o w1 R AEE © 2 7

What are the contributions of national income and per capita income in the economic development of a
country.

AU (or
g ® gt gfaund @ snemem 2= %1 9ol w1

Describe the basic amenities or infrastructures in India.

https://www.evidyarthi.in/



ST (ANSWER)

rdymE (ECONOMICS)
22. (@) fi=d o% @At e
23, (®) T 9 gt

24, g7 9% ¢ foas gu awget ud danet w1 wa-fawa e S #, erefq gE <9 a5 @ 991 9 i
STt &1

25.  uH fawm & S ® 9, fews 9 ® 9% 39 foww | 9 F9a adnE 9l afew 96t diet & faws
F f = F W W e

26.  SuLEF SPROT 2 frefafe TR E -

(i) S UEE ST

(i) 7w, FELH

(iii) 3199 AfesRl 1 gEEmEl

(iv) G SusER & g SuseEr 2

(v) SUHERT F w9 9 7u IfureRT & e i

27. ot o T Y gerar @ fader @l & @ 6 ufa sfE o W U e gR ST S 2

qATH N F GAE 29 ATH-3H qhE ¥ fawm w5 A a2, frae e 1 w5 Suesd
WIEHT T &A1 S TR S A WK HE Bl ¢ whs fou frefata s e W € -

(i) Tk fakm & &= & O faf@m = g0 I5R gom fwan St 2
(i) SUSTR i ISR e | St 3@ W gfg et 2
(i) M H gfg BH ° T SAo-TR Tee & oTde st gl Bl

TEd SR Gof fafm | awgsti @1 sifte saed i 21 58 v ufa s o W aEe e H
gfs @ 2w # enfde fawm e 2

AUl (or

qrd ¥ g glaemd sterer smureE 2= ‘O # w3l ® guH 21 sue fa fawr # wew T
1 S Tl 2

et gfaemd a1 SmEReG g # S 9§ ste T E W fefated # -

() SN SERYA W= - 301 Gy s ®9 4§ e faswm & el 9 @1 39% oi=wia efafea &
qftufera foran sman 2

(%) fag - dfwn &, s &= enf

(@) =i - wEen, faga, 9, Wi e

(1) AEE - Ed, "EF, T, TATH|

(9) H9R - e, a1, feawM, Jefbar, difear wd 3=

(i) TR-enféeR MUY e - 98 AYAE €Y W WY I &Wal U4 Soied § g # enfien faww o
YEFE Y Rl &1 -, e ud amifes gend gey)
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Group-E SET-VI 3f& (Marks ) : 06

QT Y= (DISASTER MANAGEMENT)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

28. 26 fawwR 2004 H oE YA ¥ TRG 1 HE-T1 G A gAfEd gIA o1 ? 1
(%) frpEm (@) @eTE (M) R (%) T ¥ FE
The tsunami of 26 December, 2004 had mostly affected which island ?
(a) Nicobar (b) Lakshadweep (¢) New Moore Island (d) None of these

29. 1954 ¥ 9RG TR 7§ ag-FrEE & fau fFa yer i dee o ? 1
(%) 2 (@) 3 () 4 (%) wF off T
How many Flood-control programmes were made by the Indian government in 1954 ?
(a) 2 (b) 3 (c) 4 (d) No programmes were made

30. = e w1 ST 60 TR H | 4

Answer the following question in 60 words :
I-TgeF 9 FH F FHY IIF Fad|
3T (Answer)

28. (%) FmER
20. (@) 3
30.  9-TEeM FH wW % frEfated suE © -
(i) = SR W s T s
(i) @ SHHA W g& T
(iii)y 5@ w R w1 qu eAm e =t
(iv) @ @M & 9 9/ W A5Ea ey 99 1 A@eu
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Group-A SET-VII 3f& (Marks ) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

. HrAR WA H e FE g8 2 1
(%) A (@) &4 (M) seelt (%) greivg
Where was the first communist system started ?

(a) Japan (b) Russia (¢) Ttaly (d) England

2. EE H gAwem gl U e #1 T #9 g8 7 |

(F) 1860 (@) 1885 (1) 1854 (1) 1890

When was the first cotton mill established in Mumbai ?
(a) 1860 (b) 1885 (c) 1854 (d) 1890

W vt A faw T # Ul A

Fill in the blank with appropriate word :

CR - - T8 § gE gam 1
Kheda Satyagrah was started m...........................

4. BIT-TI ATRCOT T T cennrenrersracnrensensenne S 1
The founder of Hoa-Hoa movement was............................

1 agl o1 WX AfeRaw 60 VIl | § ¢

Answer the following questions in maximum 60 words :

5. WEEA v R i feoof fer 3
Write a short note on Simon Commission.

6.  vehem 7 fFA w2 wwens oS fon 2 3
Which type of new problems are created by urbanisation ?

7. JASHH & ARG W GHE 1 FUE FH 3
Describe the impact of globalisation on India.

7 wvl @1 S afereRam 100 el W

Answer the following question in maximum 100 words.

8. UmEtor qen T SieA wt faeae o =) 7
Clarify the differences between rural and urban life.

SAYAl (or

ARG T FUE & T A Rt | g ?

Under which situation, the Indian National Congress was established ?
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)

(@) &4

() 1854

1918

TEe T

1919 % 9Ra fufm § 7 geuE e T o & 10 o % 91 gdurf gur % o e e w5
T3 fFa w1927 Zo H TR S WEHA I A W UF A &1 TS A A g8 S |9h
Teef o ooy wF off aRdg 98 9 O | 39 9| 1 U9 o T 9Ra # s & g9y o faoy
U w71 IR 3 WEEd, 1928 H UEHA FHIYH & dE Uged W kN wel fTEe fauy
e

TEHTOT & FHE T8 THENS] i T A1 e H AfAl F a@dt WeA 9 A" ® G Hi 39 A
FREMAT Tifeeh] g Yo HIET T4 G YoET, a1 31 U & 319e ol Siemdi 4 w@ee gad
e S S e vl H Snardl agd ¥ St H UHE 96l Herasy SR Y qE-TE Yl
ST g Wiy € Afaewar o g off gem

JHEAHT H 9RA W 91 AUF Y96 TSN 97 § 92 9 W farelt IS e gam wE sgusia
FHUCTEl T TG H ST G| Y &, A, T e, A6, GO AR G9R £ %1 i ga
Tord: S A i AR SUes geTl fafay y#Rr % qorekdee Susea 9MiEl #1 9NR 5 Sues
¢ e TF Wem & &9 H 9eadl STE| A % Sitad W A HIE gER ST

Treftor qen T Stea 9 faean e 2 -

UTHOT S -

(i) Tial Y R wH Bl

(i) Tiial Y TEEEAE R F AR F HA F0 T GYEEE S e

(i) a1 WEf amEER @@= g 8

(iv) el ¥ foren, w@ren wd uftae gfawmet #1 Sucer w9 g6 2

(v) U ¥ snyfwal 1 99E S9E1 e 2

HYE (or

AR T SA=Ie 1 TR 1991 §6t & 3ifqn 29 o 9RAE T F0E H T § 9 S 2
FG F O F Teat ff T ST T T W FE W R o, SH-Ifead v, o seed
S, afE TEIfEE g e wiE |t sfae IR T w1 '@ed @l onl 1883 So H 2w Hied
A 7 FHARA H AEA FHE ' AH F TH SfEd ARG HISA 1 THAA Al THE IevF o qff
ATt vferal 1 TSR HE T sah ura fafew sifam wostto 7@ 7 oft srdqe wanfeat w1 =
1A 71 1 7 TR 5= fafew Hoda wfufa &1 o ame= gra on siaa: 28 feowr, 1885 &l 9Rd™
TLE FIUG F T HY AT TSN THHT LA H LR AL =R H T MG I gE
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Group-B SET-VII 3k (Marks ) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9.  Fren FFE YR H GEEH € 2 1
(F) STaTHg (@) et (M) S4 (1) e
Coal is which type of resource ?
(a) Non-renewable (b) Renewable (¢) Biotic (d) Abiotic
10. Hoeg 1 gy st fawr # - 1
(%) sAeam-T&Er g9 998 & qeg 9 § (@) ge&d |
(1) ufyem 9@ wew H (%) qarm T H
Mangrove forest cover a large are in -
(a) Coastal region of Andman Nicobar Island (b) Sundarban
(c)  Western Coastal region (d) North-eastern states

1. WE wreEl A fred T @5 gfg W

Fill in the blanks with appropriate words :

I 5 . T aenfed s@ 2 1
[@re ity B o o [T based industry.
(i) oo Yo & forw BeR fafd a1 M., F foan em |

........................ developed the hachure method for relief demonstration.
12. 19 w7 &1 S AT 60 R 7
Answer the following question in maximum 60 words :
ARAY FY F1 1 Scewa # el 9 FRol # St w1 3
Mention any four reasons for the low productivity of agriculture in India.
13. 9 w7 %1 I efuwan 60 v W T
Answer the following question in maximum 60 words.
T WE A H Agseyiia # el W § 2 3
Why river valley projects are called multipurpose products ?
14. = 937 1 S sfuswan 60 =l W 7
Answer the following question in maximum 60 words.
F W efa SE @ Y A gEer ¥ 2 3
Whot do you mean by agrobased industries ?
15. 1 w9 %1 S efeswan 120 w=dl W ¥
Answer the following question in maximum 120 words.

ARG § A T I F AU Fl 7
Describe the cotton textile industry in India.
AYE (or)

T Y W R I UF T aHte sy qon fefafed w5 emifea wam sifea wifee

(%) FHAEAN (@) qa3 (m) fae=x (%) 9IEeX (%) IW-=faror wferam

Draw the outline map of India on full page and mark the following by shading :

(a) Kanyakumari (b) Mumbai (¢) Silchar (d) Porbandar (e) North-South corridors
Only for Blind Candidates :

AT % <A 3T w1 faERgE®s i Hifaa)

Explain sugar industry in India.
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10.
1.

12.

13.

5.

ST (ANSWER)

gMe (GEOGRAPHY)
(%) o
(@) gaed o
i Ffa
(i) <reEH
qRdrT F w5 fre Sewa % frefatea R g -
() A e WA wem
(i) TWREE TE | FH wEm
(i) FW F AHF qHAEH q THAME IaF H FH FA0
(iv) SHEEn Sfu® g9 % R0 fHaE Fw
T T AiE T WY S SEEEl I S 2 5he fawm 9 orw wedl # uw W g
S AT 2
TE AT F1 o, g FEEn, g-rReA i YA €1 SE R A S ufEie T i agseeia afEer
e W 2

F R uIfa ST FI Foal G F0 Y G e &) F ena @ % st gt o, gt ad,
2, S o, Wt g, HiH SEn onfE o € sed YR # SR Wi g g

IR H Gl A I e e 9§ faskad 21 98 F % 9% U UEE F a9l §H ged agl e @)

AR H Y Tgelt Yot a5 TR I T 1854 o W Hag H A S STEX GRI TAUG i T
29 1 ARy Gt e ool geRTe, ToWE, wfvem S, SW R 9o dfferg § S 2

Heag At FISH F TERI FHeET S €, F(H T8 TR F AN TH G gt g% @R
v 21 foega SR, ofeed, S qen faga gfawne 3 39 § gt aw sam & famsimo § geeyt
ftrert fruré 81 Fqol G § GA T & AR T Fod WA F A9 g U T T F FHR01 o 79 3@
= AT faeh=iRTor gam 2
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Group-C SET-VII 3k (Marks) : 17

Taifa fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

16. 9 ¥ fFg R F1 < vsfd wEm @ 2

(F) TF AT I (@) feaela sgeeen () EIAT FaweN (W) TH F FE @l

Which type of party-system does India have ?
(a)  One-party system (b) Two-party system (¢) Multi-party system (d) Non of these

17.  <Fdd I HEAA F TH SAEYEF 3G FNE 7

() forem (|) @ (1) TR () ohas o e

What 1s the essential condition for a successful democracy ?

(a) Education (b) Health (c) Employment (d) trust in democracy

Fe g sw 20 ol 6 € -
Answer the following questions in 20 words :
18. UM T w1 9 <)
Define political party.
forer gt wmr S 3ifireman 50 vl W © -
Answer the following questions in maximum 50 words.
19.  WIRIEEHA TSI R 91fEq Ft €1 ?
How does communilism effects politics ?
20. TR T # @M % YHE WA wHE-HE § 2
What are the main sources of income of Municipal Corporation ?
1w =1 3 stfireRam 100 vl W T
Answer the question in maximum 100 words :
21, Wihd Y T STEEl T 3y 9K H ST w4 8 2
How does democracy establish a responsible and valid government ?
AU (or
faer  gU B o=eM ® UH@ FNON & a0

Describe the main causes of Student's movement in Bihar.
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16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(1) wgacita =aaeen
(%) rwad § e
TeHfah <o TH G- W A F1 UF TH 99 € S Uoias haehey & werm 9 o o S
e ¥ A H 9 o #1 Sru-er widal i Al o Fwewn w@oswon sHa % e ww

Tt TeifaE faanym st gd @ geifad 8F @ d Srsifasar 1 uE TS W TR § 9 9 3R
TR o 21 FH-wd v gerE favm & fedl w5 e d@faum # suedl & faveg s ol fodt S
&1 TSHifR <t el o st TRt T fawi & @ w1 wa eifee e % o e w1 s
F TH FW

TR frm 7o o wifta % foau 2 yeR w1 F o 21 fafes geR # # SE-EE #w, Fo H,
viremed =, WiET W, TR =, faeme =, Sen-fern =, wifé = ey

TR M 1 5 F Y 9w o o w9 et @ 5 39 # Td T 9 uman sefen o
YRR THA-F99 T 31 SR 2 fom & o & 9 et 2

dikd o frafe g sH-wfaffeal & merm @ faufas &1 127 @ 21 faanfas o sgaa 9 wfa &R
% AR FE H 9w FA F e SETER F §)| el e ¥ wRl 1 98 S SEER
2 o5 wea o wiftd =iE «ff faofa #39 it g ? fea-fr el 3 var 1 faue o oA fomm @@ svermn
Ha fau) st @i fiz difen wd seeife Hifem = e | w9 fofE w ==t w1 g € @ik g6en
F1 il SHeTEne % ey i % fovg w2 9 gew a% faUy w1 "R S g S 81 Hw
UE I S ARG % A H 31 i ager o ugd €1 39 YR oliehd Uh STER SR S
Fl B

HAYA (or

1971 Bo & A TAIS & A% H5 THR I WHIGR-TGH Afadi 3 ARd S 9 =i fen =
e U1 e faan| SRyt ronfiE Wi aee @ feufd 3 ot waEr B T e T W ad #Y wr
¥ ety gfg gl 1972-73 3o H WMEA HI ATEAd A GRAE FW F HH THEAE g
RomeEET grqul dw | Srdi %1 GEi S| ol W 1974 Fo ¥ faER & Bl 7 wER % foeg
A=A B faan Sagwe TRE # AfEdw R ¥ W 9Rd § T8 A= heA T
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Group-D SET-VII 3k (Marks) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

2. frefafed & #1899 <o F fafuq sreforawen € 2 1
(%) swifE (@) = () (=) gefe
Which of the following country has mixed economy ?

(a) America (b) China (¢) India (d) England

23, ARG ¥ WEHIAl AR Fa YA g3 ? 1

(F) 1904 (@) 1905 () 1907 (=) 1909

When did co-operative movement started in India ?

(a) 1904 (b) 1905 (c) 1907 (d) 1909

e gvel 1 I 20 v W T

Answer the following questions in 20 words :

24. forita Geom @ 1 wHE § 2 2
What do you mean by financial mstitutions ?

e goel o s srfueRaw 60 el H F

Answer the following question in maximum 60 words.

25.  ovdiETT, SERIET qen it wt Hifqal w5 oo €, #:9 2 3
Globalisation is the impact of the policies liberalisation and privalisation, how ?

26. IUHIERN F FHA FNE ? 3

What are the duties of consumer ?
1w & 3 stfireRam 120 v W T
Answer the question in maximum 120 words :
27.  faerR % onfe fredw & 71 wr0 2 2 ovfF &9 7
"What are the causes of economic backwardness of Bihar ? Explam.
AU (or
R 1 ¢ TS T STHR W G0 L

What is credit and what are the required bases for granting it ?
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ST (ANSWER)

rdymE (ECONOMICS)

22, (M) 9Rd
23, (&) 1904

24, fodt weond i &= § 291 toen O Y UE Feeneti S ded S @ ki STEvEhare ® U S
?q 9@ TE qE Gt FEl F1 gmed w2
25. SIS 1 1 WHR GRI O ¢ G ravass s qen gfaee w5 eer @ ud fsior w5 o
frsft & g w8 % sedl ) gof 9 9 o enfies w9 9 w@fie e w3 2
IR0 Td Ffieor & wRo1 € Avdlie o & aia fafa= e & ofte oege e dene, st
3R FEifTet #1 SRE-YEE B @ 2
26. SUHiE WA FIE o @l @ A suw w5 etataa wHer o eh € -
(i) % 39 9% H WE ol
(i) o %q I O, s, T, Yo, i e seam w5t st fafy, TREARS TR senfs | e R
T WY & e H A S SEouHos o, Wi, et Ud eiet w1 Fe off 2@
27.  faER & e fiwemm & frafafes wror & o
() Tl SEEn - faer #t sHEen afus g1 % wro faer & fawm oSt @ T @ oW @ R
(i) omenfE Goa 1 SaE - fRdt off T % fom & faw senfer w@EAT 1 AeEE B wed @ elfed
faer zq 9w § 9 2
(i) FH W fasfwa - faer 1 srdfereeen ¢t @@ @ Ffu w feft 81 =7 =1 v e € 2, 30 Fro saEA
w9 Bl 2
(iv) 9T qen g ¥ afq - foaer § e sl faer § =g qen sfaoh foer & e =t feafa 1 gmen yos
T T vgal ¢ o wwo faer w3t feofa S = @)
(v) T - faer T ® Al ® 29 W M W B 59e e o faer fuser gen 2
(vi) STefis fuwere - faer & Saim aef & F1E w9 2 e w0 98§ w gen o A g
o SR T H 2
(vii) T fafyy sreeen - frdt o <o o T % fow wifs don gomeeen S e 21 faer § e fafy sgeeen
f fredm #1 vF TeEyyl Hror
79 R faer 1 onfée oraeen 9 @ € fms R0 9w o fuser gen R
AU (or
URE 1 W HO1 WA A YA H ki emar § favard € g 2
U@ q&A oHR e ¥ -
(i) fovamm - 9@ 33 S A1 HURM IUR 3 1 aft AR g @ wa 34 favaw 9 © R woht v W
QA1 wiel 3
(i) =G - /0 < F1 MER = | 21 afE wolt Sfieam qon $aeR € O S R e | i Wt T2
Bt eifepe SFGE =afaal i &g off B0 24 1 q9Rr 7@l B
(iii) TFA F & - HORE R AR F IUR a4 2 & 99 39 39 SRR F A FE I oawa W
fergara grar 21
(iv) O wo gmfa - morm ot don Tmfa & SHR W RO a2
(v) B I S7Efy - HURME e R0 3 ¥ sEen ¥, wife 3% 9iE wa € fr e | wmoft
eqe, = iR enféer feafa & aftads 9 &1 sy
9 YHR GRE ST SER 2
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Group-E SET-VII 3ish (Marks) : 06

QT Y= (DISASTER MANAGEMENT)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

28. frefafed & @ feg 7 &t ‘faer @1 v’ e S € 2 1
(%) T (@) TieF (1) I (%) g9
Which of the following river is called 'Sorrow of Bihar' ?
(a) Ganga (b) Gandak (¢) Kosh (d) Punpun
29. WEEFR & el W EH A F99 H FE AH G A A g 2 1
(%) 9T (@) wsFam (1) g (%) o8 9 *E T
What 1s the name given to the vibration occuring in the ocean bottom.
(a) Earthquake (b) Cyclone (¢) Tsunam (d) None of these
30. = e w1 ST 60 TR H | 4

Answer the following questions in 60 words :
TRTE T G o A e € 2 WgE qEaE @l & AW fafen ?
What do you mean by Seismic Waves ? Name the important types of Seismic waves ?
34X _(Answer)
28, (M) wHER
29. (W) gAE

30.  YHU F GEA IS FUA H GHUA W FEd 21 TH gEAa: wAfww (P), Tdtaw (S), 7o 9 (L)
T sl S 2

P o G99 Yed Yedt i gae W TEHdl ¥l S T STYE W € SN sua! A w9 et 21 L
T T el Gad HH el 2l
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Group-A

SET-VIII 3feR ( Marks) : 20

sfag™@ (HISTORY)
Frifera agfamedta ol § & W&t fawew =1 -

Choose the most appropriate options in the following multiple choice questions :

feg wermw &1 Tl foREA &7 1

(%) HewE T (@) 9ma fag (1) Yo HeA HEd Ao (%) I=IrEr

Who established the Hindu Mahasabha?
(a) Mahatma Gandhi (b) Bhagat Singh

(¢) Pd.Madan Mohan Malviya (d) Chandra Shekhar

2. 9N H UEC VUG HEl IR FIAT? |
(%) e (@) s () = (=1) e
Where was the first printing press started?
(a) Calcutta (b) Agra (c) Bombay (d) Goa

e v ¥ e T W AR

Fill in the blank with appropriate word :

3. TA Y STRIEE H AgE 7 fefam em |
Tana Bhagat movement was led by .......................

SR (SR L Erc e B o N | 1
The author of Das Capital was.............cccooeevveennne.

e wwel o1 Y Stfuekhaw 60 wredl W T -

Answer the following questions in maximum 60 words :

5. omfe A feg-9m o %9 W fFan? avF =) 3
How had America entered in Indo-China? Describe.

6. foarrd sT=icH ¥ o9 F gEed &7 St A 7HE wHe F 3
What do you mean by Khilafat movement? Why did Gandhiji supported.

7. Aq9 HEGd FA F4 TG gI? THH F I o7 3
When was the Minimum Wages Act passed ? What were its objectives?

71 wew o1 s sifirenaw 120 weE A €

Answer the following question in maximum 120 words.

8.  wem fava gz A 9RdE UET A=EE # HA "gE faan? 7

How did the First World War helped in the growth of the National movement in India?
AYAT (or
IR YH F TR A=eE A gefad e

How did the Indian press affected the National Movement in India?
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3T (ANSWER)

. (M) Yo WA HET W
2. () TEn
3. AU W
4. O "

5. of fe=—i ¥ 9roaE & 929 999 & UFd & U yoae ey w1 Afa oo faeaam | g
e 1 ®9 AMAR gHeH 2 @1 91 SHa gEEi % uRoTeeEEy SHd e et i eiR gfeoi
o wig-smfe gafda WHR i 9w gen e iR S § e yud Sgd @ | @
o1l eWfE et ff #ima | fT=-91 o 9rER & YOR & T =ed ol

6. Wom favegs § g1 Ft WA & 915 39 99RT & faEfen 2 fan mn Wy € weltw & 9% w1
TS F 54T TN 9RA | Gl AR i T U TelE & 9% i YA & foae femrea sr<iem
R g

HETH e ARG § SIS % fovg T g€ SH-sTaied YRY wE Awd 9 39E fou 3% fegatt
SR qHEE T WY WA S A1 Th SR feered sre %1 gne fan

7. AR GUHR A GOy i S9N ¥ GUR o AR 3T ARl ¥ gfs F0 # 329 9 1948 fo § =Aam

gl wEA wia

1948 % A BN HB M § Aol HI & [e=a &I T | Jom goes e § 36 @
o fadta deadia dem ® T fm o fE gfael 1 @ Seaet a9gd s B R IR et e
% tfaftaa ft s frarremdt & foe s=d & 9% qdia doadia Fnm § el o enfa fwa m ok
TE e wt et et T

8. wem faverls 3 WoIe M S w9 ¥ ARATT THT S=ier 1 g R g5 # IR fafoe age
1 ST & TN ATl THY TG SRl B B AT g WY I§ FAIE g gRfefaEl aga
T aRd SErTafaE | fadel segel W 9 e Yok o A WWER ¥ F TER G IER S
F AR ARG SERTAfaAl, SAEl 7 Uk U SR ) SEvgsdl HegH H

vor favags #t T & @15 fafesr @R 7 1919 To ® Uele w @] fFam =7 & foiawasy
13 3THe1, 1919 o &I Sferdiarell w1 TS §H11 SIS & 37 HAHRI Afaal 4 AR 1 &is 3K
ST € WY T
gom favags # %1 SHA 1 UG98 TN el S ol AR qEeEHl § 98 TE H 99R
TN T IR ufifearfaai & werem el i STHEdn K URH w1 & 9 fwa
et (Or)
AR UF A AR TEF A= B e ger gefaa e -

(i) ULHE M=o # WH IREE UH T Aaqell U6 g9 gUREl gR Heiferd g S 39 HreAm 9
SH-SITROT he 1 % fEAr S e

(i) 99 % Aemm § fafowr wewr #1 gaaan Afadl &1 faay fean s e

(iii) 9RdE 99 7 U g feu w1 @ onfefw wiwor wi 3WrR fwem um frswrm #@t Aifa w g e

(iv) U9 % Aeam § 999 § o s{ufavardl ud grevel wogsnEma fEar

(v) 9IRdrE 99 + fegeil @ qoaHl & de U w©nfad S § FTET SerEa
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(vi) 9 99 9 U-Tu fgari &t su=mE, W, S, e 96 U 9t & s ¥ SHeEy a6
Ll

(vi) U9 & A § Fifaer fT9rl & 7| §9 § YER-YER fFHar S e

Group-B 3w (Marks) : 20

T (GEOGRAPHY)
Frifera agfaecdta wot & & W@ fawen o ¢

Choose the most appropriate options in the following multiple choice questions :

9. T TE I gfug 22 |
(%) wFa & fafm 3g (@) I IUF FREF 2g
(M) @ ¥ Eg (%) T A e
Mumbai High 1s famous for-
(a) Export of Coal (b) 01l Refinary (¢) Mineral Oil (d) Atomic Energy
10. foer & e gr weifusw fo=r frm foet o et 22 |
(%) e (@) dHaH (M) T (%) afe=m =gro
Which district of Bihar gets the largest irrigation facilities through Canals.
(a) Rohtas (b) Siwan (c) Gaya (d) West Champaran

(11) W& o=t & o ol ofd ¢

Fill in the blank with appropriate word :

(i) H Tl HEF TTF oo TR ° feera B I
Sanjay Gandhi Botanical Garden 1s located m .......................... City.

(i) 'V’ AFER T WE H T T GR SEE e e § e S 21 |
V Shaped valley is formed by a river inits ......................... stage.

et wgel ot 3T arfireRad 60 YreEl § @

Answer the following questions in maximum 60 words :

12.  GWrea HfH ¥ 39 T GHA 82 3
What do you understand by contour farming?

13.  ®Fe & fafa= v’ &1 Soo@ w17 3
Explain different types of Coal.

14. @@ fag =1 RefE &) 3
Define Bench Mark?

e g @ s arfreRam 120 v W @
Answer the following question in maximum 120 words.
15.  9Rd & HHe 3T H a0 H 7
Describe the Cement industry of India.
YT _(or
T U= W 9RA & T W@ At AR a1 FEAfafea w1 smifed = am sifed Fifaa)
(%) T (@) 4 7.
(M) HTER (|) = (%) Soet
or
Draw the outline map of India on full page and mark the following by shading :
(a) Narora (b)  Mumbai High
(c) Mangalore (d) Baraum (e) Neyveli
Sl
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Haet AR BEl @ feml
Only for blind candidates.
faer o uM F1 wEa & fou sugs dnifas e #1 Seo@ i)

Elaborate the geographical conditions available for paddy cultivation in Bihar.
3t
(9) (m @ 9 2
(10) (%) ea™
(11) (i) 9T
(ii) FamerEen
(12) wwir Fh- e F Tt o6 § e 9 31 TerE A ¥ veret we w e wE S we

T W B e 9 W ghes W 9 & S @) wue w5 ger sed w1 feta e 2
T 9ft W SS- g =, |ie |, e dfwE o w2

(13) FMAS ® T H A F YR W TR 9 F w7 E-

(i) UYmRe ®Fe- T8 Gaied ®ife F1 wEFen ¢ 5o FEq F 7m 00% ¥ iy it 2

(ii) fafo e Fren- sod wEA & A6 70 9 90% TF Bl @1 URa w1 ARG g 36 Sl 6 2
(iii) femee Fgen- 7@ f= Fife &1 Figen 7 Jw@ L

(iv) e FEaen- 99 w6 30% 9 FH T S L

(14) T Tag- aredfas Tdam & gr1 wa i, o, S, Teeri S8 € aegetl W gsae § "t T S w6
wefyfa & gt fag =1 9o 9% (Bench Mark) @1 ST 21

TAfa W U8 39K # YRR F0 # 60U 98, Bie dua il i TFE § famn 9 e

(15) 9 fova 1 g0 9o 9157 WHe Scaes 291 1 81 W 3 YN & HiHe F1 SR el g1 S9-udele,
e Wz sefal 78 S w2 & fewe weifya feen S 2
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HIY Yeel HiHe WA 1904 o H =8 W TfYG fwan o oS 9RA # 159 9 den 332 § e
B dide 947 €

RATA Hidz 1 A faRel § wel €, wifn qg S5 oE el e €1 sut wi afeor ue et
YN H FHT ¥ T THI WRA H 20 FAg A e yfaad Seed @ @ 2
Group-C 3 (Marks) : 17

TeHita fa@™ (POLITICAL SCIENCE)
Frifea sgfameda vl ¥ ¥ @&t fawew = -
Choose the most appropriate options in the following multiple choice questions :
l6. Frfafea & & 1 wHE WEA-s7awe #1359 6 87 |
(F) T T (@) srEvesd
(M) wW w EEE (9) SR

In which of the followimng is not the objective of Federal system?

(a) National integrity (b) Indivisibility
(c)  Decentralisation of power (d) Communalisation
17.  faer o wqoi wifa =1 Jga e fean? 1
(F) SRR AT (@) ARRST 3468 () e /AR (%) ] TR
Who Led the "Sampurna Kranti" in Bihar?
(a) JayPrakash Narayan (b) Morarjee Desai (¢) Nitish Kumar (d) Lalu Prasad
1wl & 3w 20 v W ¥
Answer the following question in 20 words.
18, WA U9 AR # §7 36 fEad w87 2

What is Panchayati Raj System? How many levels it has?

frovifera woel &1 TR 50 vrel W

Answer the following questions in 50 words.

19. UHHS I ] T§ THg oo § 3= W #| 3
Differentiate between unitary and Federal goverment.

20. USHIfaE Al gHERNE 99H % fau 9 U 1 gae | faw 3
Give three suggestions for making political parties more effective.

o1 wew o1 s sifireaw 100 Rl A €

Answer the following question in maximum 100 words.

21. AW favR wiwdiTs e & Ay e 21 33w # e ' Hwl 7

Social diversity is harmful for democratic system. Clarify with example.
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AYAl_(or
faeR *1 Skt I F1 J0E
Describe the democratic challenges in Bihar.
I ( ANSWER )
Tt fa@m™ ( POLITICAL SCIENCE )
16. (&) wEETRTER
17. () STE9h1I TRE0

18, TV TR W T T Al & @Y Hi TaEd U8 e $Ed ¢ 3HF 99 W1 6- UMW 'R W
UM 99Ed, JEiE T W g9 qiafa qen feen & w feen afwg)

19. THTHE IEH Fawen ¥ WA F Fw fag TF @ e F1 58 AT A ogeen st el S ¢
T A TR F Sarid € WA 6 T THERAT w1 Hl S
eftg wreen § $% U6 T4 ® 0T SAUER 1 o TR S el @1 g i -3 &
¥ el 9 el 21 e ol U TR % AfUsR e § ewed e sk
20. USHITaH Tel 1 AR THH ® dF SuE fEfated g

(i) =@ 980 FFA - SfaEE HeNEE g0 @ T A 956 HEA F Tl 9 an] w0 arfen) s6g fAfeq wned
% fou @ ufEas & a9 TR o hm|

(ii) oAafieF eihda 1 T~ TSHITGF Sl 1 3T9A1 U GfaeM e =ifet) 9 Jom@ma e girefas
WS 1 YA FAQ AR G H UG W A H AR IS FAC

(iii) =t Fofal #1 qem-TeHIfaE Se w AEeE & FUEl w1 SEEEE e S =i

21, It faSE] &1 Al SHaed W YSAael Y9 W T g el €1 5 Sl wmites faeg

T W BT B S @ d SAindiiaed sFasen ®1 yaq g s 81 fed-fadt erwaites e § &5,
T, WA, THIA, o6, 9 iR w o gt fase den fEen s 2

gmteeR fa9g 1 gd9e ST dicis € 8l el S T Hi ol o" G99 a6 6 S i
feorf o+t w@h Fieenfaen & o ok Wit % wmifes fass 3 woHifa 1 5@ R yafaa fwan &

spiefen % w6 A

31t (Or)

faer o % WHR &1 SArwaiten gAtaal faemE € Fuft froe uF gve § wR gur ot €, {6 o e
% FAITA] AR SFae 1 THAH e @ 2| faer § Sifqar, ywerEr, wiaram, s e,
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To1eT 1 STHE, STHERSEY, Wt Sugy e g Hieg €

T THM A % TSR feR Sfe & g 89 § Wi F @1 8 WER w0 fawm %
iR waeTelier 21 faer &1 fodiw T &1 g1 37 =1 6 aaR 1 s @ 2| e € faen = fawm

F TH W AWM wed % fau At gared W faem am e
Group-D 3 (Marks) : 17

1AITE (ECONOMICS)
freifera agfasmeda woal o ¥ W faswew = -

Choose the most appropriate options in the following multiple choice questions :

22.  9RA # fa<a TaUE R I #1 FE S 27 |

(%) feeet (@) 7 (1) W (%) SR
Which city 1s called the financial capital of India ?
(a) Dellhi (b) Mumbai (¢) Patna (d) Banglore

23, AR USMIR ASHT HI YES FHd Rl TE7 1
(%) 1980 (@) 1989 () 1988 (%1) 1983

When was the Jawahar Rojgar Yogana started ?
(a) 1980 (b) 1989 (c) 1988 (d) 1983

ey w20 vl ® €

Answer the following question in 20 words.

24, STHRYA WEA Y wed €7 2
What is infrastructure ?

Tt wveil o1 S 60 Wi W © ¢

Answer the following questions in 60 words.

25.  W=d I §? 3
What is saving?

26. fava =R HweT # ¥?2 Aw wa SR FA wenfw fEn 3
What is world trade organisation? Why and when was its established?

e gt o 3w 120 v B R

Answer the following questions in 120 words.

27.  HE & HME & FUA HI 7

Describe the functions of money.
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AYAl_(or
SEEIF A6 & Y@ HE F A wl
Describe the main functions of commercial banks.
I ( ANSWER)
(23) (@) g
(@) 1989

24, 3T HLEHAT 1 T 4 glaEnet qon garet ¥ @ W 39 % onfelsw fawm & foau wews w6 € o
st fastelt, wfee, 99, S, e, Fioe, S 3R o 2

25. ST T ITAM K SR TUG FEAM | A F1 FKA G M) agei qen fehrs awqei | @ fEw
ST 1 ES A 1 gE 9 S feks awgel W e fEa s € 99 9w #ed ¢

Tq9d = F — I

26. Tava =R e U TEl AT Hed © e 32vd e SR #1 3eR A4l 21 39 HSA Hi
T | Sa 1995 § 1 T2 98 GTeq Saieta =R § Sefud fawi 1 i s 21 98 g+t 2o
1 Heok AR 1 Gaen <o 2l

(27) 931 & W@ *H fefatea € -
(i) fafma =1 wegm- g fafem = megm @1 90 %3 qon fowa <l o & g & % w2

(ii) ¥Tq F1 °HUH- G5 god F1 9O 2| fH9 a%g w1 e go9 g, 9% g g0 € wed ®1 g9 % 3
F@ & FRo1 fafa w5 sraE g T 2

(iii) faeifad qmam &1 7H- e g0 § aga @ onfels wE SUR W g 2 3R IEE g a1 ° e
ST €1 GET 7 SUR 2 A1 o HE H HG! AEE S & B

(iv) T &1 Ho9d- T T09F S AEvHaet &1 g0 Fd gU Afasd & Aeavawast & fau §t #3 a=9m
Tl Al 21 g H a8 o @ fw 58 5w e @ W g 2

(v) HI-9fEF 1 &0 GaT & R hiE o =afaa fordl Tk T W 1ot geafa seert fohdt o/ o W
T wEta 'lig g 2l

(vi) URa 1 AER- G5 61 & SR F HE Ft ¢ &6 g1 & 9 o Sf- =5, U, gUel S Jeed
H e ® "l
79 YR U fafa= gHR ® w0 F 2

Agdr

SEEIAF dH F THE FE e g

(i) 5 U F EHR FE- AFETF dh 1 Gaifrr Teeyul w1 9 Tewl ¥ TH B T F g W
FT T Fifh T F SFHUR W B0 I 9 AW A H Th G G0 @ HW L

(ii) 9 YSH HEAT- A% S F TO0 THE FE A R H0T YIH FET € S I IAEF FA B g
RO 3d € e SfE SEEd #1 AT R 2

(iii) THF ST Sath wE- EEiaE % gEE St g9t w5 o S 8 Se—

(F) € 9 UEH I GE-T9 T6 A 9F @ TR w2

(@) % o WEH F @i H glaer ot W= w2

() ATM Ut ®fez %€ 1 gfasn «f 9% & g7 we@ #1 o 2

(%) H% onfeiw feafq 9 ufifad 89 % FRO AR HeH G S SRS TR F ST TR H A
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T W He® 34 2

(iv) usHt Geefi wr- saeEfas d4 TEd S THE ® 9 § Gar i ¢ 6P JHaid S o, fae o g
F1 Hehel, SIS UF TSI T Hoho qen faawon, =41, & &1 foe, 5 %1 fFea &1 e stz faramd
F 2

Group-E 3 (Marks ) : 6

3MUeT 9aegq (DISASTER MANAGEMENT)
freifera sgfasedia uol | wEt fawea o -

Choose the most appropriate options in the following multiple choice questions :

28. H& & fou fosiem =n ¢ - 1
(F) =uf =t FH (@) %9 (1) =’ (1) e R
A factor responsible for drought.
(a) Low rainfall (b) Earthquake
(¢) Flood (d)  Volcanic eruption

20. Y Gifed &5 ° waAl 1 oTpfa wE g =fe? |
(F) SR (@) FrgemER (1) R (%) SR
What should be the structure of the building.
(a)  Oval Shape (b)  Tramgular shape
(c)  Square shape (d) Rectangular shape

et weat @1 s stftreRaw 60 vl A € -
Answer the following questions in maximum 60 words :
30. 9 F YOG HI FH FH F U AR 4
Answer the following question in 60 words.
3T ( ANSWER )
(28) (%) aui ® wwi
(29) (®) STEEEHR
(30) 9@ % Y9E F FH FH H 99 FrAfatem & -
(i) FHREOU FwE w1
(ii) Hfal & < fFIR =t Ao H
(iii) & 1 S TER FE
(iv) =9 ereiia "M &1 FEor &
(v) W@ §% &1 fakm &
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Group-A SET-IX 3% (Marks ) : 20

gfdg™@ (HISTORY)
Freifera sgfereredta wol § & W& fawen o ¢
Choose the most appropriate options in the following multiple choice questions :
1. Toaem e guegard e & uqa § o 1
(%) wH (@) st (1) &4 (%) g2t
Which imperalist power was dominated Vietnam?

(a) France (b) Germany (¢) Russia (d) Ttaly

2. TR AME TWE T FEAT H T Fd g/ !
(F) 1917 (@) 1925 () 1907 (=) 1911

When was the Tata Iron and Steel Company Established?

(a) 1917 (b)y 1925 (c) 1907 (d) 1911

W vt A fraw T A uf

Fill in the blanks with appropriate words :

3. fova S SR I=RISIT I T HT TMHL.cwvevnsvivnnns T ® BRI el 1
World Bank and . MLF. was established by ...................... conference.

4. 3T FEIR GFTHT BT THEEE ccooonrreeeerrnnnnns 7 THAT TN |

Amrit Bazar Magzine was published by ............................ .
et woet @t S iR 60 vredl W F

Answer the following questions in maximum 60 words :

5. fafemm-1 % @i S & i e & fou swaa om S 3
It was impossible for Bismark to unify of Germany without William-I. How?

6.  ARAA LA AR § AT T8 F HE F aUE F 3
Describe the role of tribal group in Indian National movement.

7. wigfafa @ 22 T T vl 72 3

What is manuscript? What is its utilization?
Tt gt o1 S SifireRaw 120 vl W € ¢
Answer the following question in maximum 120 words.
8.  UNG & W g% AW H fiREe & F wnw o 7
What were the causes of decline in cotton textile industry of India.
AYET (or)
IR § g0 & R sfie W uw feoht fawd

Write a note on the primary history of Printing.
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3T (ANSWER)
sfae™@ (HISTORY)

. (%) wH
2. (M) 1907
3. 3T gEd
4. Hena =

5. UEN SHAT R U UHE T A1l R S O fafeam-1 Ugardt faaram & o 98 S & TR #
Yael YR o1l 9 Sl ot 5 S SN Wi # uwieor § qad w2} a2l 1862 H e @ Ui
% 3299 ¥ o 1 orae wiger e fam fa 3w ok o’ fifa 1 s de S #
T g0 feE

6. 9RA % TSI ST=Ier § S At i Hewyel it ot 199 vaed 1 awe 209 v ¥ o w2
S TR gUl 198 | H SRAFE H 81, ®ie, §OA A qeT G5 g 1916 H &0 9Ra {19
fagie gam 1917 ° Heredl A iR A & HfwAl 7 fagie fFam 1920 # <o § dianw w9 ® g o
o7y gev ¥ fagie gul 209 TS # oRY H SREAMTR § a0 9 F g H 2 W Ao Jelll 3
S ST 3 TS <o & fasE o 3w ameE &

7. 9RA ® IO % TR ¥ TEed HSTF TS A€ F T W Y € faen # [ @ 99 W e
79 ewfdied qrni i € wigfaty wed 2
wigfafy gan gasi & goio 9 1 7&00 HeR ?1 YRA § F&hd, Uel, Wihd, SWEl a1 EIREr |
§ sren wigfafal R 1 ) T uigfafiEl % e @ qoneld sfer i S 9T g 2

8. 18 VAl % 3d T WRA A T I Ve UA Gl i owe ° [ fova # fawam o faeg 199
A F ANE F G € FE RO @ TOH (e oM @i, St 39 YRR 8-

(i) 9Ra % P a6 39 & e & ged g7 R i wifa o sq8 g o %1 3@ =42 e @0

(ii) fafen @R + gz ffda gt o= @ 9RdE 9oR % 92 G 4 9nda se & qeed geg oW
B &

(iii) =% 3fedn FT "es TR T W HUH THEH 3eiS A 3qt off | SHE AR oe fEtare i 3= wue
foern =2 = T

(iv) fofewr TR 7 9rda gt F98 W ¥ Fw! gie a1 F@1 fafewn Fifa s w= d@m g e &=
= F fEu

(v) &7 SR A faea ffHa gt Fuei it 97 H§ o) S9es F=E & fau 9RdE g wuer 36 w1
F % fau #% w3 e

3gar (Or)

WA el § € 9Ra & @ fofy SR ofed wen § uifed 9 TER U@ U W Ao Sehiv siE
S e A TE qg-TE W aed S fE S on 95 ¥ gwatda e & ot oen & fau sk gam

IR § BUE F1 efae qamierd & ST % W 9 B 2l 1691 OE % mex o e § gt o
TR, SIEe! A HAYHH SIAEM] A1 Hishoi a9 § JeT e GEdwh! w1 BUE F1 T Feifen w1 e
T § GEAehl 1 TRRH fha1l 1674 T HIH0N TH Fg 99 F 50 GEIH| 61 THEH & FHT A1 T 96 FANHT
F off ik qEaen! 1 GRRE {1 QU Q! & STemE fed #E IR afdel 9T § YR Fi T 3H TER
qRA H HZ01 1 URA AT g7 FEReR g fwar T
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Group-B 3R ( Marks) : 20

Mt (GEOGRAPHY)
frifera sEfaeredia woii o ¥ WE faehew = ¢

Choose the most appropriate options in the following multiple choice questions :

9. o9 WY&V US WEEE I g W o Al fHa e 2 1
(%) 4= 4 (@) 3 = 4
(M) 5o H (7) 79 9 HE T
On the basis of forest conservation and Management forest are grouped into-
(a) 4 groups (b) 3 groups (c) 5 groups (d) None of these
10. ¥ 9% viq el feem €2 |
(F) HEIR (@) W (M) HR (%) T
Rail workshop 1s located at-
(a)  Jamalpur (b) Bhagalpur (¢) Munger (d) Patna
(11) W& wr=gt @ Rem Tt a0t i ot
Fill in the blanks with appropriate words :
(i) quor FH F TF TR F e Fi 21 1
Plantation agriculture 1s also a type of .................. agriculture.
(i) AT oo IS | gt B 1
Nagpur 1s related with .................... project.

Tt woEt ot ST stfuehad 60 vl B Q

Answer the following questions in maximum 60 words :

12. foust sm=rem @2 3
What 1s Chipko Movement?

13. Prvfada Rem & o F gue §2 3
What do you mean by Triangulation Station?

14.  9Rd & =R @ T foagd 78 %1 Ieoie Hw 3

Describe the four important atomic power plants of India.
1 ya @ S sifueRaw 120 veEl W €
Answer the following question in maximum 120 words.
15, 9G¥ WHa qa % famu &1 quE Fiteg? 7
Explain the distribution of Mineral Oil in India.
AIHT (or
T TG W GRd F T T At a9E a1 FEAfafaa i smifed = am sifed Fifeg -
(%) TH] R H% - AR
(@) I MEF FREA-HLT
() e TEH HREM-SHR
(%) o &E-femar
(T) Hre &a-gr
or
Draw the outline map of India on full page and mark the following by shading :-
(a)  Atomic power plant-Rawatbhata
(b)  Oil refinary-Mathura
(c) Iron & Steel Industry-Bokaro
(d)  Crude Oil Region-Digbo1
(e) Coal region-Jharia
Sl
Fad THEH B & o
Hifeersh T SAuIfeoh Wie § S T HiL? 7

Differentiate between Metallic and Non metallic minerals.
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2

(9) (@ 3=mH

(10) () SHRIER

(11) (i) =t
(i) ¥HEH

(12) Tau=si en<iem-swE R & feal-Teare v et & g3 oet 9gion & g § 3¢ SHentadl gl
1972 ® 98 3AicieH YRH T &1l T4 Ao § M A SHSR H1 Horel o ei-R Wl Hl ded
@ 38 TOM & AU o e ® W R SR F THET W FW o

(13) GHr=a t@- ghr=g Wt #1 gerEd 9 I=uEd yeviE & fafy #i gde w1 21 7 uE a9 fafy
21 %A GHeT @ gae W GUEa S § Uk GUF SaEard fage/em #i fhemet gHfes ) i
SFETelt Fwedt Y@ 21 39 tEnet w1 8% § v fRu e anafas gaan ® eaR W e S 2l

(14) 9Wd & 9) y9@ WA faga e frefafea #-

(i) R A oA [E- 9% gaE & fehe auq @ wenfud fRan e 1 36 ged SEd SEn ud 9
fasteft =M e e

(ii) TR ] fagd Te- 98 SW YR & qoiavel & U fed 2
(iii) IR W] foE e~ g ToRE T § YRS fEa m )
(iv) M wEY] R Te- 9% wAlew g & war e o fem 21

(15) wifeay vfe & g q@eFl § gaifas qeagl v oame &9 § swart gane 1 9Ra ¥ gera: o
I SAEH & § -

(i) SH-d Re- 7€ 39 1 G99 QA G SR &7 g1 Sl 1866 $o H U61 & o TEE TE H W o
T & F HEqul Scarash TeTElE, Tehiedl, HiH, ERETR K £

(ii) TN &F- F% & WU ® afed qen [ % feE H fawgd €1 sue e I9R S{weve B
(iii) HTE 77X &7- 7% & gaE 9 ¥ 176 fHedier W sw-ufeem faon # sn @vw o fem 1
(iv) Tl 9 TR9- F7 FOM-TEedt SR wEd A & ofew qen gem & 9 &9 ° hen gen R
(v) W afFd- 39 3fe & 9en &9 @ fasr 2009 ¥ e OE @ T
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Group-C 3R ( Marks) : 17

Torita fa@™ (POLITICAL SCIENCE)
Freifera sgfasedta uol ® @ W@t fawea o -
Choose the most appropriate options in the following multiple choice questions :
6. T o & &1 = & o 27 1
(F) 9RAE TEE ®EF (@) WL 5= 3d
() ARAE @ e (%) 3 | HE Tl
Which of the following is a regional party?
(a) Indian National Congress (b) Rashtriya Janta Dal
(c) Bhartiya Janta Party (d) None of these
17. 9Rd ® T 1977 %o H W 999 ¥ &7 9@ * agaad faen o |
(%) a1 e (@) =9 et (M) wHEfe o (=) fomm =
Which party got the maximum vote 1 1977 election of India.
(a) Janta Party (b) Congress Party (¢) Communist Party (d) Shiv Sena
fRuri s sw 20 @l ®§ € ¢
Answer the following question in 20 words.
18.  &FA ¥ Y T THE 7 2
What do you mean by regionalism ?
Frerifera oAl o1 3WR 50 TeEl W )
Answer the following questions in 50 words.
19.  iforen wrkaa & o sifgemy &1 #9? 3
How illiteracy is curse for democracy ?
20. W W IA 2 3
What is Gram Raksha Dal?
1 uwl @1 S ifereRam 100 el W ©
Answer the following question in maximum 100 words.
21.  USHIfE I 1 WG F WO F FE W 22 7
Why political party 1s called 'Life of Democracy' ?
AYET (or
¥ TE eI & Hael wl T H

Clarify the relationship between religion and politics.
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18.

19.

20.

21.

I ( ANSWER )

TeHifa faF™ ( POLITICAL SCIENCE )

(@) U= SFar g
(F) @ Tt

gmas w1 o1ed TRt & fagiw o o, weepta, wefa @ SMYR WX ST gRI STerT YeeH Wi Wi o 2
FHi-Fft &ER 39 % A @aw 59 S 2l

AREN Siehas & foru safiemg 21 Afen & o A § USHiae da 1 SA9E B @ S0 SAfEemRl
o wfa T=a & g1 et € 379 Fdeal o fded wEl 9 # T2 w1 g1 stfufer i aeeifas wfewen
H oo quierd A8 3 U €1 SAfven ad H A, SeE uE qeEiasE o W oA 2

T & T YEEd F Y@ S 2| 5 a1 gferm srawen ff FE1 S 21 Feifad e & 18 a6 | 30
T & S ol % TR ! HI AW W I H 0 fHA S 2| THRT YW Teufa wi 21 s6ht fgfe
TEHR G 1 S F1 SHH GeAwE T H T A A WHfah SN b THA Ferddr wIAl

weras § FiE ot TR ST gr1 99 e wfaffat | wnfee B 71 3 59 wfafaty et aoifas el
% TS BN B Tod® USHITGe ] 1 SO Sfqerd il 1 Skt STt fAfvea Ueitae feaEmen R
Hifeal eIt 21 SH SUR T ST 59 gHedS Sl 2

TAE & A ST T ST JAeh Tel i ¢ T SEGaR Sgad Sfde $ SHR S
£ S =7 wEHa Wi Tl X UM 3 fouat w1 gfter fYR 1 9 WEA B o= SR " S # geenst
FI 330 T

Ager (Or)

Tieft St 1 FEN o R o F oA | ST T fwA 5 whA 21 e St % AR o # e
fereren & el fafyem a1 W TSIt 1 e 9o @ Fefia g =tew Sk o womita o e
T iRy B SR ®1 39 & whedm % U 7 sTevas ® R vl % o faewi, smewl w gt w°
Teriifa # wom famn s woifa § e oft <wn 9 v @ T fd ad fasie & @i dgem @
e @ T R = e 2
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Group-D 3R ( Marks) : 17

rfyE (ECONOMICS)
freifera sEfaeredia woai o ¥ WE faehew = ¢

Choose the most appropriate options in the following multiple choice questions :

22. frAfafead & @ org = & s=riq S a7 22 1
(F) =% (@) % gw (M) = W (%) =19 & ¥t
Which of the following comes under credit?

(a) Cheque (b) Bank Draft (¢) Travellers Cheque (d) None of these

23.  S@EA wd o o fafy enfes gfewor 9 € oo |
(F) W (@) (M) = () ¥ & T+

Production and income measurement method from economic point of view 1s:-
(a) Easy (b)  Scientific (¢) Practical (d) All of these
Fe g s s 20 wral W € ¢

Answer the following question in 20 words.

24, WEUEE HEA SRR wed 87 2
Which is called Multi National Company?

1wl o1 S 60 v W T

Answer the following questions in 60 words.

25.  Hfy-Sifa s@m R wed 22 3
What 1s Agrobased industries?

26. 9 #I faxig Geens i fEa wn § e T €2 9l 3

State Financial Institutions are divided into how many parts? Explain.
e gl wr See 120 v W ©
Answer the following questions in 120 words.
27. fuer % aftis oo #1 U @ & fau F=-=0 39 *w afew? 7

What steps should be taken to solve the problem of economic backwardness in Bihar?

AT (or
@ TEEdl 99E 1 €7 390 Afgand orwt yfie e wen frend €2

What is Self Help Group? How do women play their role in these groups?
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3 ( ANSWER )
(23) (&) =79 ¥ |t
(7) T8 9 gt

24, LU FEEA AT T S UK W A 90 H I | FEE 7wt w31 SH-wie e, duw,

25. U@ ST S FT AR W fHa 7 A1 S Scared ® H &7 ¥ Foa e ofen 7, 39 Ffu S swm
FEd B AY-W W AR M, THR F AR T T IHMT G

26. T foxia geensH i S 9w # sier W e -

(i) R geemma faedia Heemd- s@s oia "enH, 93, 9RER, i, e w& o7 o €1 o sft it
H B/ YSH FE A GIE AR QT HeS § i T e oF W Ul "ed 2

(ii) Herm faedia geend- sus strid Hewnl o, wefhs gesnt dfufa, gfn fawm §=, smEatas 545,
it oo S, T T e e €

(27) faer = enfefs feew w1 Q6 % fow f=1 sum fF -1 9= 2-

(i) EEl W fE9m- 9§ a5 9 9ed g2 smaed # HEtE fEwa smy

(ii) Ff *1 i @ fasprm- faer o Ffa € Sftaq &1 onur @ safae S 9 73 46, 399 @R, 599 d@9 @
g far sme @i 3w § gfs o = 9=

(iii) @@ W FEE- faEr # fawm o 9% T agd 91 auE ¢ [ SR Y& | BEel % T S 90
Taig B ST ¥ TR Fi =fen e fEfa

(iv) 3menften STe o famra- foaer o e oo #1621 5o faww 9 € faer =1 fuseme
Tl

(v) S =1 fopm- faer & grEve 09 % 99 91 ° SO S GeN HIE F9 8 T {1 S oS4 € o9
71 4t o= el & I SN § 31 TR i e fF S sum-ae w92 € a1 wvomewen | € 3@ g
Ead

(vi) TR R FA- R § et @ & A e 42 9iheE | TeR-a W R ) 3R U9 W1
S fe® et B 9

(vii) wifa =raeen =t - fogr o wifd %1 2 wEH w0 ais @ ge W 8 T S

(viii) T A1 $AMGR Jome- faer & onfels faswm & foau @@=, f3@ o HreR qomeE s 2

9 YR foer & onfeis fusew =i ¢ fwar o1 g 21

dr

A FEEdl 9YE asad ° Er e ¥ 15-20 SAfEal (T afgersti) #1 U SHuE 9
T B1 S AR T Gl S A RO AR AT T % WEn Sewd F g0 w2

w@d TEEE G ¥ 15-20 9SH e ¢ S frafh &9 9 fien € iR swa #d g1 w A &
% 9% 3R TE faftd 9 @ o9d & € @ 99 qF ¥ RO W FH H A & S | R0 T H
W W T S € SR THE s geE % iU SRS % S 1 gee el €1 3EE A e
Hfead anfei €9 9 waemEt g e @ dfek gqe ®1 fatra sewi ® 9w ant s gmites o w
w1 T 1 e ot fgern 21 afeend T T %01 % 5N BR-B s ot et sHiA ggan # e,
i ISt (s, @R onft & o), = a i, foerd weii=, sueten, ay) stz wwafa el & faw
FA T

T YFR W9 TEEd 998 & §N Ao I Sied # qeid STavasdietl wi Q0 w4 € aen
3Tl feorfa weet & e @ I 2
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Group-E 3R (Marks) : 6

28.

2%

3MUST FE e (DISASTER MANAGEMENT)
Freifera agfaseda wol ¥ ¥ W& fakeT = ¢

Choose the most appropriate options in the following multiple choice questions :

g fog wF W e 22 1
(%) @@ (@) 99 (1) STEHA (%) T 9 FE TE
Tsunami occurs at which place?

(a) Land (b) Ocean

(c) Sky (d) None of these

T | ®F AEEE R 82 |
(%) g (@) =1 (1) SeRas (%) JFd

Which of the following 1s Manmade disaster?

(a) Tsunami (b) Flood

(¢) Terrorism (d) Earthquake

T 99T 1 3 31fuean 60 vl H @

Answer the following question in maximum 60 words :

30. &Y § q9E & 39 qaE 7 4
What are the remedies applicable for earthquake.
ST (ANSWER )
(28) (@) ¥9%

(29) () eTEHAR
(30) %9 ¥ w=E F frefatea s € -

(i)
(ii)

qFT H GG
- fmior

(iii) SF-HT H GEN
(iv) wymEfE FE
(v) R TE[ Sl #1 "
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Group-A SET-X 3f& (Marks ) : 20

sfae™@ (HISTORY)
Frifena agfascdia wol ¥ @ W& fawen o ¢

Choose the most appropriate options in the following multiple choice questions :

. g o frg yms 99 =t qaeate faue i 5w w om? 1
(%) =g (@) afefn s (1) 7 o (T F 7 T
Which dynasty was established by Vienna Congress in Feance?

(a) Habsburg (b) Aurlia dynasty
(c) Bourbon dynasty (d) None of these

2. ‘mR Uz 99’ fEEE w2 1
(%) A AR (@) feqera (M) «fE (=) wfes
Who wrote the 'War and Peace'?

(a) Carl Marx (b)  Taulstoy (¢) Lenin (d) Stalin

W v @ fam e WU

Fill in the blank with appropriate word :

3. qRd # T 2 A i, o wqfd gal 1
First Jute Mill in India was established in ......................

4. T R WA FOFER F U e e # IR & T |
'Sardar' title was given to Vallabha Bhai Patel durng .................. movement.

1 wvat @ S sifieRaw 60 Il W T

Answer the following questions in maximum 60 words :

5. fem-= o widdt war #1 9vi w1 3
Describe the French expansion m Indo-China.

6.  TEENiT ¥ 9 N THAG €7 T HRG B By yeiEd fHa? 3
What do you mean by de-industrilization? How was India affected by 1t?

7. WRrd 99 & TR i ai 3

Describe the characteristics of Indian Press.
71 wwHl a1 WX 3ifersRan 120 vl W €
Answer the following question in maximum 120 words.
8.  @fm &t 7% enfefs Hfa =1 avl FH 7
Describe the 'New Economic Policy' of Lenin.
Yl _(or
Sferataren am gemwe ) feoult fod)

Write a note on Jalianwala Bag Masacre.
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3T (ANSWER)
1. (M) =& 5w

2. (|) Jea=m
3. FHom
4, WG

5. T ¥ wigfEE & WA 1 YT 32 ©9 U4 fafewt Ul & s gfaersi F HH w ol
IR AR 7 St e feofa 3 widifeat w1 o= ©w wg@ 9 @ 1863 $o H wwitedn i
Giferd T a1 foram 1884 Zo H ST 1 S SO WIEA &F TN 1893 W WH A qSIH W 3fHER
F o =9 yor 209 9& % e a& 9equl feg 9 Wi & uqga H e T

6. - HEH % MR A SR F 5 Ko wreE § o 98 T ) g w7 e s
1 T e HER S w1 gaa @ Frede 2

Tl 7 o FHREF § w1 e w1 fafa e aRa @ Fe 0 & S 1 At SO ge
R 1 A, aRdE aeget ® et w g iR e o e, awa § et few, fafw agget
% HAEE A ARAE SE Fw A= Hw T

7. 9RAE 99 ¥ e faemad § -

(i) 19% T & alE H THER-TA F YER & F9 o {5 off o 9 § e & sera s, fafew
TR it Ao fife ® faes smfa s § geeet gt fad

(i) 9RdrE Y9 & wem § fafa= afds ud amfas gur sr<ieri w1 5@ faen
(iii) 384 9Ra ® foen 1 a@grEen feam enfeiw fawm v gt eT=iaa & iedited T

8. @M 7 1921 %o ¥ wwk = fifa =+ =iwon wH T T onfelw Afa # @ A ffafen of -

(i) THEH W o 9 % 95 T Fv=a T T T AN FEE I well % FTER ITA H
Tehal ol

(i) Hsiftw &9 @ HH TF F 0 g F A@eid - W SHH R Afcwe g6 fFmamt 1 fan @
(iii) 20 FHATE ¥ &9 ot S H AfFEG T G A H1 HER Tz mm
(iv) ST =1 fassiwo & G = 3% v @ FEragd g9t sfysr g=5m fwe T
(v) i i sgm 39 & fou difmm fageh 4t emfa =t )
(vi) Sfam s gofa #1 Qe 2q TowE o o IR T
(vii) S Fen 1 geq ToR W fawr fw e
(viii) ¢2 g 1 sifFerd Teea g #= E T

dAf #1772 enfYw Hifa 9 9 F1 AT | dqsi AT

31t (Or)

fofeer TR 7 Fifdwrl Tfafar@l W= (e T & 3599 ¥ 1919 H Aele FMEA TRa a1 39 F &
IER fdt =afam *i fon garemn =y sfvea fran 1 o 21 59 e wFF w1 SEdw fay ge
AR | o Tl TH Tlo HFE foheie] 7 T =g 912 YauH 1 g okl 72 FRwR * forn
Tome H A wmEE @ R fEan T e 13 id, 1919 1 S B & S WA &
Sferataren am | T fawe g 1 e o @ SR 2R | fRed fie ® nfaal @) @ w2
¥ gl =Afa WR M) T " At v gewie & AW ¥ W 2

https://www.evidyarthi.in/



Group-B 31eR ( Marks) : 20

(GEOGRAPHY
Freifera goat § | Wer

Choose the most appropriate options in the following multiple chmce questions :
9. W & anlf *i fREd ‘9Ra F1 A Far on I
(%) T Tt (@) Tho W% T6R
(1) dfed TEw (%) T faasm=s
Who called dams of the country as 'Temple of India'.
(a) Mahatma Gandhi (b) Dr. Rajendra Prasad

(c) Pandit Nehru (d) Swami Vivekanand

10. U= # gfy Freieo = qe FRo 1
(F) T (@) & et (M) fd TYER (=) ferk T
What is the most appropriate region for land degradation in Punjab.
(a) Deforestation (b) Intensive agriculture (c¢) Over grazing (d) Owver irrigation

(1) wd vt & R vl @ Of Y

Fill in the blank with appropriate word :

(i) R 4 %G H TAAART FH B e Ffa Fed T I
,,,,,,,,,,,,,,, 18 the name given to shifting cultivation in Northeast India.

(i) o8 TEAE ST TH oovvrrnrs Gl |
Iron and steel industry isa .................... industry.

e ggl ot I 3rfieaw 60 YTl W €

Answer the following questions in maximum 60 words :

aai.%sﬂ'a tlﬁaﬁFn F T T T B2 3
at do you un erstand by multipurpose pro ject?
aﬁﬁr T 3R T L 3
Dlifc,rentlate between ferrous and non ferrous mmerals,
14. TF® H9E 9 9 1 999 67 3

What do you mean by 'Spot Height'?
T gt 1 SR stfereRaw 120 weEl W € -
Answer the following question in maximum 120 words.

15. 9Rd & Y@ o foga afEsmed &1 ave w1l 7
Describe the important Hydroelectricity project mn India.
AYET_(or
T T8 W 9RA & TH W@ AT AR a1 fFAfateaa i eEifed s am sifed #ifag
(%) FFel EA-TENS (@) W
(M) 7 feeedt () 9N AEEIA (¥) =1 &=-3M
or

Draw the outhne map of India on full page and mark the following by shanding :

(a) Coal region-Raniganj (b) Chennai

(¢) New Delhi (d) Thar Desert (e) Tea region-Assam

Fad TFEE o & fo

Only for Blind Candidates: .

foer = &1 = i &1 ave w12 7

Describe the river valley projects m Bihar.
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2

(9) (m dfed w=w

(10) (=) e fo=r

(1) () =™
(i) SRy

(12) wgsesia ofEsH- o & fafay swEm t 2fic 3 a6 7 afEis #t agseeia afEsm wed &1 s
T W ufEeE ot Fer S 2

FESeEa UESH 1 g Sevd e, faed Saed, TS A, whed, Heerdrer i g &
Fg3eeia ofEe & foau afel w e ™ A w9 SaEe 7w 1 ey W # oA

Fer 2l

(13) wtg =frs et et

(i) f97 =fsi § aR &1 a9 @ 9@ 2 o | (§) o wifasi § @@ @ sfw =@ W faewd
ITHT ITAT B TS TEUM AR H RN T2 g1 2 9 sl wfe wEar 21 99-
S 2, 9 diE e wEdar g1 S99 -wie- i, HE, A9F oAl

FIEH, IS, T
(i) ¥ WA, yw, wedwn s @ F 2R 2
(iii) ¥ WRR WA § 9@ W

(ii) @ #39% T ® T GHd 2
(iii) o 9l 9N % weeAl ¥ ba wwd €

(14) Tonfeh SoE- oo fag =+ Gema 4 fwdt wom faom &1 ot 7 $9E %1 wnfis $9E (Spot Height)
el Wil 21 =W fafy ¥ fage # g amtes @ fafas o w5 e wen J foa g wmn 2

(15) weauati § <ol 1 FAN v SEEE & w9 6 R S @1 21 Setaey Sdnd & forg wgEtedt a6 §
TR Wl 1 AR T AT # e, Sl w1 Al o, Wt Sel-g9e 1 A, e i s S
wedra T fenriga & | S )

IR % Y@ Seltaga ufEsE frefatea € -
(i) 9REEl- FTa WA 92 aos T4 R IR # g9l 9 qiEsE 2

(i) TR =e 9fEsT- 98 9iEsE SEet 6 e 98 4 AREE UE uivEd 9w a9H & ferg
T T em

(iii) =t TfE- SW R 1 sifaem S 76 W e EH TR (Fue) o |t S 2000 fFeare et
SR fohan <1 @1 2

(iv) = afEsm- 97 #t e 79 fes | s w2y o fasel safeq #1 st 21
(v) oRee ufEeH- memd WSS § fave 1 gad o |y e fasel Saed R s 2
(vi) =9 & ufEsE- 98 Sad 99 | i #5 w2
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Group-C 3R ( Marks) : 17

Torita fa@™ (POLITICAL SCIENCE)
Frerifera agfamedta woi ®§ ¥ Wt fawen o+ -
Choose the most appropriate options in the following multiple choice questions :
16, elrhd & AR § qEd aen a @2 1
(%) had § e (@) s
(1) IS FEE (9) TSI S

What is main obstruction in the way of democracy?

(a)  Trust in democarcy (b) TIlliteracy
(c) Social equality (d) Political awareness

17. U wfgen s sfufem fFg ad a2 |
(F) 1990 (@) 1985 () 1965 (<) 1995

When did National Women Commission Act formed?
(a) 1990 (b) 1985 (c) 1965 (d) 1995

e g s A 20 oA W -

Answer the following question in 20 words.

18. UfENaR #1087 2
What is nepotism?

Frerifera oAl o1 3WR 50 TeEl W )

Answer the following questions in 50 words.

19. TA-9%d HEA 9 AT F GHI 7 3
What do you understand by anti-defection law ?

20. fqar & FYAE F1 G0 FK 3
Describe the bad effect of Castism.

= wva o1 ST stfereRaw 100 vl W € -

Answer the following question in maximum 100 words.

21,  wirRda e weR e dafy wd fasm § wems w22 7
How is the democarcy helpful in economic growth and development?

SAYAl (or

ara #t faufaer & afeenstt & wfafafue =t w0 feafa 22

What 1s the status of women representation in Indian legislature?
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I ( ANSWER )
Trerifa fa@™ ( POLITICAL SCIENCE )
16. (@) eAfoan
17. (%) 1990

18.  TSHIfaeh Teil To SHE Aasil 51 3194 € UFER T8 g gefiEt # 99 ¥ SEieear & w9 ° fowe 3
IRENER e 2

19. W9 *E A a1 SEufarry Rt o fanm & gAe fog W gAE Sfaa € ok 9% o R g <o #
UEEIA U1 Al ¢ df 59 Soi-wgel el Sl gl

1985 3o H TSl Wt % WHA F@ H A-aga foudt sifufrm dwg § @i gsm Tw wwifa
At % STER I-TTEE 9= 9 F7 Id-95a Sl F1 Gedl g & S|

20. e IRAE HES F OF GeAR ¥ TEH 9RGE S R Frefafea wuee e ¥ -
(i) @A wfgenfed 6 FHegEr 9= F fawm

(ii) fafe= sifeai & &9 R sifavar @ gon = fawm)

(i) 3w # s wifama wel & foiy wo smfaa Ail ¥ uwar U srEved ® Tl

(iv) @i ® Hgfaq AafFa & FRO I F AEISTE TH AMdF Ffa § e

21,  ErwAI A i SUiEl w1 gediw T Tgfs ud faswe % SR W e ¥ wEn fawe ga
FEHFT F1 FR@N T & AR TR THHR AN qF TEAE S At st i shen oy sa
| AR o s T 2wt g fuifa e € S9- sden, snfels werfasrand, foen, enfefsw
g "mitae frafa snfz) enfefs w9fs o 9aer & @+t w2l o, a1, sifa wd fan &1 3faa afafafaa
AEYTF B

3ger (Or)

T W Y enelt SEE afeensd # 21 W UoHifoE & § T WA 9w wH 8| Qe sed
¥ femelt o w6 & foru wfeensti #1 F#16T JeESes 61 U W@ e g ¥ 9uied w5t w5 % fa
Hfgeneti AT i TETd HI 21 TG TuEd W gAE H FE WA ° 50% € afgenst & § T
€ foreg wue # ool off 7% faer oree g0 ©) SOHE wehE § wigen wfattedEl s §EA 59 21 98 Hel
qiasl # e * 11% 9§ ff F9 2
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Group-D 3R ( Marks) : 17

rfyE (ECONOMICS)
freifera sEfaeredia woai o ¥ WE faehew = ¢

Choose the most appropriate options in the following multiple choice questions :

22. Trafafed § | fFg froe o9 e 9@ 2 2 |
(%) o (@) far () feeedt (%) TR
Which is called backward state in the following ?
(a) Punjab (b) Bihar (¢) Delhi (d) Guyrat
23, HM W WU K YE H GEHEH & fou frw fag w1 e sevaE €2 |
() T o (@) ISIH () T (%) ¥ | FE T
Which sign in necessary for determining the purity of gold jewellery?
(a) Hallmark (b) ISI Mark (¢) Agmark (d) None of these
7 wol T ST 20 v W ©

Answer the following question in 20 words.

24,  TIE TEEA 9YE § N GEE €7 2
What do you mean by Self Help Group?

et woat @ ST 60 vl W € ¢

Answer the following questions in 60 words.

25. WG 1B U 3 el I Fand 3
What is credit and its different sides.

26. TAHM HI 1 ARG W FT ST UST? 3
What is the effect of present recession on India.

e wow @ 3w 120 v W G

Answer the following question in 120 words.

27.  TEEEAl Wi ® UvEIq UG SR A %9 SR R 3¥ew @ g e wfufa %1 e fwan? 7

After the independence when and for what purposes the Indian govermnemt established the National
Income Committee.

AT (or
TSI A T URA | TEH! M0 H yE fafy $E-wE 6 @2

Define National Income. What are the important methods of meassuring it?
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S¥¢ ( ANSWER )

(23) (@) faw
(%) =fa a1

24. T el GHE T &5 | 15-20 Al T Aieensl 1 9YE € ¢ Sl A9 S= 9o Sl 9
oY HU AH A FEE F WA el B g F S

25.  ORa W1 w1ef foavard O W § 2 el B Sl A1 A w i gwar § faverd ¥ g 2
@ | I U E E-

(i) FUR@- SR @ 2

(i) HOft- S HEO 9w

26, SEHM HE F GRA R T FH Y1 T FHifF Tl H1 Ui aoR wET geiegd feofd § 7)1 @ wwa #
AT Wi Hal & FIET HoEd €1 5 29 H1 STHRYd GOl HESR B % S o we 1 ewR
FH g ¢ WfF ARG F qUF 20 T 3R T&T w1 e 67 wiava SEen F6 wE § ot gg 2l

(27) oA Wi & =15 9RG SR A ST, 1949 o H Hlo ToTlo HETCMIfSE i STeetl § Tk T 374
il 1 TS R ol 3HET SE¥F ARG Ht UNIF 3 & T § STAE @l o1l 39 |iAfg 4 o1
1951 ® 1ot gorm Rl weqga =t off e 1948-49 & fou 391 1 ®a T T4 8,650 HAS T
AR TSI

fafa 3 o fUid 1954 o § wga &1 foWH 1950-1954 T &1 ULF T4 & Ak YR
e )

YT

forelt 391 # &t g geaEty ® Scuifea v sifaw awgell @ Qast ® difkw gea % 4 S U
M wed B

T T i frefateaa @ fafe g wme S @ -

(i) wafa T fafa- @ fafa & srofd 3o 9 = ad o sanfeq sif<m sget qen denst =1 g8 9o9 9.
o ST € qen sEE AN i ifm SUS AN wE S 2

(i) sma o fafu- =@ fafy = srfd ol ema &t o % fou fafu= &= § wria =afwa qen
SEHI SUHHT F1 UG A AN g foRA S 2

(iii) S9nT s fafu- zq fafy =1 == fafu o Fe1 s 21 5@ fafu & oer Fo o =1 @ sudm | =@
FI Sl 2 eE g9 W W fafu @ i o Y o w0 @ o susiemed Y e qeon S "=
Y gt swg! H1 e A 8

a9 29 H U @ # o & fon safa wom fafy qen s womn fafy @ wam fwn
EInkS
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Group-E 3R (Marks) : 6

3MIST Ua e (DISASTER MANAGEMENT)
Frifera agfamedta vl § & W&t fawew =1 -

Choose the most appropriate options in the following multiple choice questions :

28.  WHEF/EET § AW ovH i feufd ¥ @ s =nfew) 1
(F) A= s I3 FH JAH (@) =as-fagiEar amm
() AV GHH T AR HEA () =99 9 ¢ &l

What should be done when fire breaks out in the house/village?

(a) call fire extinguisher (b) close doors and windows

(¢) wait till fire ends (d) None of these

20. Wod % 9 g4 gU W w1 ua o % fou e 9w # weg off St €2 |
(%) T (@) TwRE FH () el (%) s
Which instrument helps i finding out people under debris?
(a) Telescope (b) Infrared Camera
(c) Helicopter (d) Mobile

o1 wea o1 3w srfireRan 60 v W

Answer the following question in maximum 60 words :

30.  Sffad e STH(TTR FEEA ¥ S T THEd €7 4
What do you mean by life protective disaster management?

3™ ( ANSWER )
(28) (%) AfemHe a3 H AN

(29) (@) THRS HHY

(30) STYRT FeieA I & WON H AN FE H e 21 (i) SRS YT SR (ii) SR FEEA S
FI IS | qg Siaq W YEEE ¥ aiE el YY1 Sevd Guifad el & YN R FH Hl
21 8% 3d & genfad i 1 emyer § frem e @ yqE SR9a e ?1 ST STent YR & Wi
MRS STHEE YEUH § STOH-STe YRR H1 weAfgmard gt €
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